COMMON PENNSYLV COUNTY C			<u> </u>		Š.				of Pen	OMPLAIN INSYLVANI	
Magisterial Dis					E						
MDJ: Hon. C	riminal Justi	ce Center		DEFEN	DANT	•	(NAME	and A	DDRES	S):	
Address: 13	01 Filbert St			Tiffany				Farr			
Pr Telephone: (2	niladelphia, P/ 215) 683-728			First Name 3217 N. 2		<i>Middle N</i> Philadelphia, P		Li	ast Name		Gen.
				NCIC Ext	radition	Code Type					
🔀 1-Felony Ful	1	5-Felor	vy Pend.			C-Misdemeanor Sur	rounding Sta	tes		Distance:	
2-Felony Ltd			•	radition Determ		D-Misdemeanor No					1
3-Felony Su	-		emeanor Fu			E-Misdemeanor Per	-				
4-Felony No	Ext.	🔲 B-Misd	emeanor Lir			-Misdemeanor Per		lion De	eterm.		
Docket Numbe	ſ	Date Filed / /)TN/LiveScan M		Complaint Nur MFI230125	nber Incid	ent N	umber	Request Lab S	
GENDER	дов 01/23/	1983	РОВ				Add'l DOB	1	1	Co-Defenda	ınt(s) 🔀
Male	First N	Name			Middle	e Name	Las	st Nan	ıe		Gen.
I Female	AKA						-				
RACE ETHNICITY	White Hispanic		🗌 Asian	X Non-Hispa	X Black	1	Native Ame	rican	nown	Unknown	
HAIR COLOR		GRY (Gr	ay) 🔲 RE	D (Red/Aubn.)		(Sandy) 🔲 BLL			PLE (Pur	ple) 🔲 BRO	(Brown)
		🛛 BLK (Bla	ck) 🔲 Of nde / Strawbe	NG (Orange) erry)	🗖 WH	l (White) 🔲 XXX	(Unk./Bald)	Ľ	GRN (Gr	een) 🔲 PNK	(Pink)
EYE COLOR		🔲 BLK (Bla 🗋 HAZ (Ha	•	BLU (Blue)		BRO (Brown) PNK (Pink)	GRN MUL (•	•	GRY (Gray	,
DNA			ONA Locatio	on						WEIGH	I T (lbs.)
FBI Number	656257DI				MNUN	lumber			• •		00
Defendant Fing			NO							the second s	IGHT In
Fingerprint Cla	issification:			DEFENDANT	VEHICLE					5	1
Plate #	State	Hazmat	Registr Sticker (I	ration		comm'i Veh.	School Veh		Oth. NC	IC Veh. Code	Reg. same
VIN		Ye	ar Make	9	M	lodel	Style		:	Color	→ as Def.
Office of the	attornov for i	ho Commo	nwoolth I	Approved		approved been					
						approved becau		y the	attorney fo	or the Commonw	ealth prior
to filing. See Pa	a.R.Crim.P. 507)).			2			-			
SDAG Jaso	n Karasik									6 11/24	
(Name of the atto	rney for the Comm	onwealth)		(Signature of	the attorne	ey for the Commonwea	lth)			(Date)	
I, Special Ag (Name of the	ent Catherine e Affiant)	Berner				Badge #916 (PSP/MPOETC -As:	signed Affian	t ID N	umber & E	Badge #)	
of Pennsylv	ania Office of	f Attorney G	ieneral			PA0222400					
(Identify Dep	partment or Ager state: (chec	ncy Represent	ed and Polit	ical Subdivision)	(Police Agency ORI	Number)				
1. 🖂 Iaccu	ise the above	e named de	fendant w	ho lives at th	e addre	ess set forth abo	ove				
🗌 🗌 l accu	ise the defen	dant whose	e name is	unknown to i	me but	who is describe	d as				
theref	ore designate	ed as John	Doe or Ja	ne Doe	_	on or nickname ylvania at [_301]				e
2407	N Patton St,	Philadelphia	a, PA 1913	32		(Subdiv	lsion Code)	(PI	ace-Politic	cal Subdivision)	
in	 County		51]	on or abou		e 9, 2020 throug	h Decembe	er 26	, 2022		
		10		-	104	a Data)					
		(C	ounty Code)	-	(Offens	se Date)	WA /				

AOPC 412A - Rev. 12/21

.

				MINAL COMPLAINT		
Docket Number:	Date Filed: OTN/LiveScan				t Number 30125116	Incident Number
Defendant Name	First: Tiffany		Middle:		Last: Farris	

The acts committed by the accused are described below with each Act of Assembly or statute allegedly violated, if appropriate. When there is more than one offense, each offense should be numbered chronologically. (Set forth a *brief* summary of the facts sufficient to advise the defendant of the nature of the offense(s) charged. A citation to the statute(s) allegedly violated, without more, is not sufficient. In a summary case, you must cite the specific section(s) and subsection(s) of the statute(s) or ordinance(s) allegedly violated.)

Incho Offen		Attempt 18 901 A	D Solicit 18 902		Conspiracy 18 903		y	Number of Victims Age 60 or Older		
X	1	1407	A(1)	of the	62 P.	.S.	1	F3	2699	
Lead?	Offense#	Section	Subsection		PA Statute	(Title)	Counts	Grade	NCIC Offense Code	UCR/NIBRS Code
- 11 March 10 March 1	nnDOT Da applicabl	sang ng pang pang sa sa batang sa sa] Interstate		Safety Zone	U Work Zone
MEDIC	CAID FRAU	ition (include the r JD - PRESENTING O used associated w	R SUBMITTI	NG FALSE (-	JLENT C	LAIM UNDER		ASSISTANCE (1 C	ONTINOUS COUNT;
and/c	or causing	ntentionally causir g to be submitted f nder Medical Assis	alse inform	ation for t	ne purpos	e of ob	taining grea	ter comp	ensation than tha	t to which entitled

Inchoa Offens		Attempt 18 901 A	Solicitatio		Conspi 18 903	racy	Nu	Number of Victims Age 60 or Older			
	2	1407	A(4)	of the 62 F	P.S.	1	F3	2699			
Lead?	Offense#	Section	Subsection	PA Statut	e (Title)	Counts	Grade	NCIC Offense Code	UCR/NIBRS Code		
1999 - CARA RESS	nDOT Da Ipplicabl			-		Interstat	te	Safety Zone	U Work Zone		
		tion (include the AUD - SUBMITT				NDERED	TO A RE	CIPIENT (1 CONTI	NUOUS COUNT)		
Acts of	the acc	used associated	with this Offen	se:							
	-	submitted claims rated by reference		nich were not re	endered	d to a recip	oient. See	e attached Affidavit o	of Probable		

Incho Offen] Attempt 18 901 A	Solicitation 18 902 A	Conspl 18 903	тасу	Nu	Number of Victims Age 60 or Older	
□ [3	1407	A(7) of the	62 P.S.	1	F3	2699	<u></u>
Lead?	Offense	t Section	Subsection	PA Statute (Title)	Counts	Grade	NCIC Offense Code	UCR/NIBRS Code
1 19.2	nDOT applica				Interstat	te	Safety Zone	U Work Zone
Statute	e Desc	ription (include the n	ame of statute or o	rdinance):				
		FRAUD - SUBMIT			SENTED	INFORM	ATION (1 CONTI	NUOUS COUNT)
Acts o	f the ac	cused associated w	ith this Offense:					
Causi	na clair	ns to be submitted w	hich misrepresent	ed the description	on of servic	es provid	led, the dates of ser	vices, recipient
		al provider, or attend						
	-	•	ing, prescribing, or	relening place		s allachet	Andavic of Flobas	ne Oause,
Incorp	orated	by reference.						
				, a d				
L				NNV				

			检察	POLICE CRI	MINAL COMPLAINT
Docket Number:	Date Filed: / /	OTN/LiveScan Numbe		mplaint Number MFI230125116	Incident Number
Defendant Name	First: Tiffany	Middl	e:	Last: Farris	

The acts committed by the accused are described below with each Act of Assembly or statute allegedly violated, if appropriate. When there is more than one offense, each offense should be numbered chronologically. (Set forth a *brief* summary of the facts sufficient to advise the defendant of the nature of the offense(s) charged. A citation to the statute(s) allegedly violated, without more, is not sufficient. In a summary case, you must cite the specific section(s) and subsection(s) of the statute(s) or ordinance(s) allegedly violated.)

Incho Offer		Attempt 18 901 A	Solicitat 18 902 A			nspiracy 903		Number of Victims Age 60 or Older		
	4	1407	A(9)	of the	62 P.	S.	1	F3	2699	
Lead?	Offense#	Section	Subsection		PA Statute ((Title)	Counts	Grade	NCIC Offense Code	UCR/NIBRS Code
	nnDOT D applicat						Interstate		Safety Zone	U Work Zone
MED	ICAID F	ption (include the r RAUD - SUBMITT	ING CLAIM	FOR SE		OT RE	NDERED	BY PRO\	/IDER (1 CONTIN	UOUS COUNT
		cused associated v ns to be submitted			oot cara y	vorkor	services w	word	not rendered by t	he provider
	-	Affidavit of Probat					Services, w		e not rendered by	ine provider.
See	anacheo	Allidavit of Propar	ne Cause, m	corporate	u by telet	ence.				

	nchoate Attempt Offense 18 901 A			Solicitation 18 902 A		Conspiracy 18 903			Number of Victims Age 60 or Older			
	5		1407	A(12) of the			1	F3	2699			
1.1.1.1.1.1.1.1.1.1		_{ise#} T Data cable)	Section Acciden Number		PA Statute (T	itle)	Counts	Grade te	NCIC Offense Code	UCR/NIBRS Code		
Statu	te De	scription		A name of statute or	•	BTAIN	ING OF UNEN	TITLED REIN	IBURSMENT OR PAYMENT ((1 CONTINUOUS COUNT)		
Acts of	of the	accused	associated	I with this Offense:	na «							
	ursm								ther than Tiffany Far f Probable Cause, in			

Incho Offen		Attempt 18 901 A	Solicitation 18 902 A	Conspir 18 903	асу	Nu	Number of Victims Age 60 or Older			
	6	3922	A(1) of	the 18 PA C.S.A.	1	F3	2699			
Lead?	Offense	# Section	Subsection	PA Statute (Title)	Counts	Grade	NCIC Offense Code	UCR/NIBRS Code		
1 3 4 1 4 4 1 1 4 1 1 1 1 1 1 1 1 1 1 1	nDOT applica				Interstat	e	Safety Zone	Work Zone		
Statute	e Desc	ription (include the r	name of statute	or ordinance):						
2		• •		ION (1 CONTINUC	ous cou	NT)				
Acts o	f the a	ccused associated v	vith this Offense);						
	ance, i			y of another, to wit, poression. See attact						
				7	M					

			POLICE CRIMINAL COMPLA							
Docket Number:	Date Filed: / /	OTN/LiveScan N			t Number 30125116	Incident Number				
Defendant Name	First: Tiffany		Middle:	• • • • • • • • • • • • • • • • • • •	Last: Farris					

The acts committed by the accused are described below with each Act of Assembly or statute allegedly violated, if appropriate. When there is more than one offense, each offense should be numbered chronologically. (Set forth a *brief* summary of the facts sufficient to advise the defendant of the nature of the offense(s) charged. A citation to the statute(s) allegedly violated, without more, is not sufficient. In a summary case, you must cite the specific section(s) and subsection(s) of the statute(s) or ordinance(s) allegedly violated.

Incho Offen		Attemp 18 901		Solici 18 902			onspiracy 903		Numb	or Older	
	7		3922	A(1)	of the	18 PA C	:.S.A.	1	F3	2699	
Lead?	Offens	e#	Section	Subsection	Friday Contractor	PA Statute	(Title)	Counts	Grade	NCIC Offense Code	UCR/NIBRS Code
a construction de la construction d		Data able)	Accident Number					Interstate		Safety Zone	U Work Zone
			include the	name of sta	atute or or	dinance):					
THEF	T B	/ DECE	PTION - F	ALSE IMPF	RESSION	(1 CONT	INUOU	IS COUNT	Г)		
				with this Of		<u> </u>					
	tance									\$34,849.65 and ov le Cause, incorpo	

Inchoa Offens		Attempt 18 901 A	Solicitation 18 902 A	IX Conspiracy 18 903		Number of Victims Age 60 or Older		
	8	3922	A(1) of 1	the 18 PA C.S.A. 1	F3	2699		
Lead?	Offense	# Section	Subsection	PA Statute (Title) Cou	nts Grade	NCIC Offense Code	UCR/NIBRS Code	
1999 - C.	nDOT pplica		1 N M	Int	erstate	☐ Safety Zone	U Work Zone	
		ription (include the DECEPTION - FA		or ordinance): ON - CONSPIRACY (1	CONTINUC	OUS COUNT)		
Acts of	the a	cused associated	with this Offense	•				
-	-		s to commit Theft corporated by refe	By Deception - False Imp	ression of at	: least \$34,849.65. S	see attached	

Inchoat Offense	- ! -	Attempt 18 901 A	□ Solicita 18 902		Conspiracy 18 903			Number of Victims Age 60 or Older			
	9	4911	A(1)	of the 18 PA		1	F3	2699			
Репп	Lead? Offense# Section Subsection PA Statute (Title) Counts PennDOT Data Accident Interstate (if applicable) Number Interstate						Grade NCIC Offense Code UCR/NIBRS Code ate ☐ Safety Zone ☐ Work Zone				
Statute I	Statute Description (include the name of statute or ordinance): TAMPERING WITH PUBLIC RECORDS OR INFORMATION (1 COUNT)										
Acts of t	the ac	cused associated v	vith this Offe	ense:	1 800 M	1 - 11 1					
kept by,	, the g		mation or re	ecord, or require	d by law	ı to be kep	t by other ncorporat	t, or thing belonging rs for information of ted by reference.			

				🖄 PC	DLICE CRI	MINAL COMPLAINT
Docket Number:	Date Filed: / /	OTN/LiveScan I	Number		nt Number 230125116	Incident Number
Defendant Name	First: Tiffany		Middle:	henden som det den den den som	Last: Farris	

The acts committed by the accused are described below with each Act of Assembly or statute allegedly violated, if appropriate. When there is more than one offense, each offense should be numbered chronologically. (Set forth a *brief* summary of the facts sufficient to advise the defendant of the nature of the offense(s) charged. A citation to the statute(s) allegedly violated, without more, is not sufficient. In a summary case, you must cite the specific section(s) and subsection(s) of the statute(s) or ordinance(s) allegedly violated.)

Incho Offer	1		Attempt 8 901 A	Solicit 18 902			nspiracy 903		Number of Victims Age 60 or Older		r Older
	10)	4911	A(1)	of the	18 PA C	.S.A.	1	F3	2699	
Lead?	Offen	se#	Section	Subsection		PA Statute	(Title)	Counts	Grade	NCIC Offense Code	UCR/NIBRS Code
1	nnDO applic	· · · · · · · · ·						Interstate		Safety Zone	UWork Zone
Statut	e Des	scrip	tion (include the r	ame of sta	atute or orc	linance):					
			WITH PUBLIC I			•	DN - CO	ONSPIRA	CY (1 CC	DUNT)	
Acts c	of the	accu	used associated w	/ith this Off	fense:						
1			n Jonathan Banks se, incorporated b			g With Pul	blic Rec	ords or Inf	ormation.	See attached Aff	idavit of

Incho Offer			Attempt 18 901 A	Solicit 18 902		Conspir 18 903	асу	Number of Victims Age 60		or Oider
	1.	1	7512	Α	of the 18	PA C.S.A.	1	F3	2699	
Lead?	Offer	nse#	Section	Subsection	PA	Statute (Title)	Counts	Grade	NCIC Offense Code	UCR/NIBRS Code
	nnDO appli	10.00	COLORDA CONTRACTOR AND			*	🗋 interstat	e	Safety Zone	U Work Zone
Statut	e De	scrip	otion (include the n	ame of sta	tute or ordina	ince):				
			SE OF COMMUN							
Acts c	f the	acc	used associated w	rith this Off	ense:					
the Cr	imes	Cod	•	, et seq., c					of a crime constituti). See attached Affi	

Incho Offer		Attempt 18 901 A	18 902		X Conspi 18 903	racy	Nu	Imber of Victims Age 60) or Older
	12	7512	Α	of the	18 PA CSA	1	F3	2699	
Lead?	Offens	e# Section	Subsection		PA Statute (Title)	Counts	Grade	NCIC Offense Code	UCR/NIBRS Code
									U Work Zone
Statut	e Des	cription (include the	name of sta	tute or ord	inance):				
CRIN	IINAL	USE OF COMMU	NICATION	FACILITY	- CONSPIR	ACY (1 C	OUNT)		
		ccused associated			m-=				
Cons	piring	with Jonathan Banks	to commit	Criminal U	se of Commu	nication Fa	acility. Se	e attached Affidavit	of Probable
	-	prorated by reference					· [
							ا ر	////	

				PC	LICE CRI	MINAL COMPLAINT
Docket Number:	Date Filed: / /	OTN/LiveScan I	Number		t Number 30125116	Incident Number
Defendant Name	First: Tiffany		Middle:		Last: Farris	

- 2. I ask that a warrant of arrest or a summons be issued and that the defendant be required to answer the charges I have made.
- 3. I verify that the facts set forth in this complaint are true and correct to the best of my knowledge or information and belief. This verification is made subject to the penalties of Section 4904 of the Crimes Code (18 Pa.C.S. § 4904) relating to unsworn falsification to authorities.
- 4. This complaint consists of the preceding page(s) numbered 1 through 5.
- 5. I certify that this filing complies with the provisions of the Case Records Public Access Policy of the Unified Judicial System of Pennsylvania that require filing confidential information and documents differently than non-confidential information and documents.

The acts committed by the accused, as listed and hereafter, were against the peace and dignity of the Commonwealth of Pennsylvania and were contrary to the Act(s) of the Assembly, or in violation of the statutes cited. (Before a warrant of arrest can be issued, an affidavit of probable cause must be completed, sworn to before the issuing authority, and attached.)

2012

I certify that the complaint has been properly completed and verified.

Main

An affidavit of probable cause must be completed before a warrant can be issued.

AND NOW, on this date

(Magisterial District Court Number)

(Issuing Authority



Docket Number:	Date Filed:	OTN/LiveScan Number	Complaint Number	Incident Number
Defendant Name	First: Tiffany	Middle: Middle	Last: Farris	

DOLICE CRIMINAL COMPLAINT

AFFIDAVIT of PROBABLE CAUSE

Your Affiant, Catherine Berner, Badge # 916, is a Special Agent with the Pennsylvania Office of Attorney General, Bureau of Criminal Investigations, Medicaid Fraud Control Section, located at 1000 Madison Avenue, Suite 310, Norristown, Pennsylvania 19403.

Your Affiant was assigned to investigate allegations of Medicaid Fraud committed by Tiffany Farris (Farris). The Pennsylvania Office of Attorney General received the initial referral from AmeriHealth Caritas (AmeriHealth) and the Pennsylvania Department of Human Services – Bureau of Program Integrity (BPI). AmeriHealth determined that Farris was potentially working for 22 hours per day as a Personal Care Attendant (PCA) for three consumers – Jonathan Banks (Banks), "C.F.L.", and "C.C." – while also maintaining outside employment. Further investigation revealed that consumer Banks also maintained outside employment during hours he was supposed to be receiving Personal Assistance Services (PAS) from Farris.

Banks was eligible to receive PAS services under the Community Health Choices (CHC) Waiver program. The CHC Waiver is a home and community based program that provides a variety of services to eligible individuals. One of the services available under this waiver is PAS to assist with daily living. The CHC Waiver requires Medicaid recipients to select a Managed Care Organization (MCO) to administer their medical and other benefits. PAS agencies submit claims to MCOs, where the claims are reviewed and payments are issued to agencies. Banks's MCO was AmeriHealth.

Banks received PAS through Silver Heart Healthcare Agency (Silver Heart), located at 2407 N Patton St, Philadelphia, PA 19132. Silver Heart utilized an Electronic Visit Verification (EVV) system for employees to document clock in and out information when providing services. Silver Heart used these electronic time records to generate Medicaid claims to receive payment from AmeriHealth, and to pay its PCAs based on their reported hours.

Your Affiant reviewed documents from Silver Heart, including Banks's consumer file, Farris's employee records, W2s, and EVV data. EVV calendars were used to identify Farris as Banks's assigned PCA and to verify which hours Farris was supposed to be providing PAS to Banks. Your Affiant reviewed records pertaining to Farris's outside employment with Wesley Enhanced Living at Stapeley Hall (Stapeley), located at 6300 Greene St, Philadelphia, PA 19144; Barclay Friends, located at 700 N Franklin St, West Chester, PA 19380; and The Terrace at Chestnut Hill (Terrace), located at 495 E Abington Ave, Philadelphia, PA 19118. Your Affiant also reviewed records pertaining to Banks's outside employment with Wellington at Hershey's Mill (Wellington), located at 1361 Boot Rd, West Chester, PA 19380, and from Terrace.

Your Affiant determined there were numerous PAS claims submitted to Silver Heart for Farris's services to Banks, which Farris could not have rendered due to either her or Banks's outside employment. The spreadsheet Exhibit "A", attached hereto and incorporated herein, details these instances, which amount to at least 1686.75 of services not rendered for which Medicaid, through AmeriHealth, paid \$34,272.06.

Your Affiant also reviewed records from the agency First Choice Care Services (First Choice), located at 4312 N 5th St, Philadelphia, PA 19140, which employed Farris as a PCA for consumer C.F.L., and from the agency Golden Age Home Care (Golden Age), located at 600 Washington Ave, Unit 18UB / UD, Philadelphia, PA 19107, which employed Farris as a PCA for consumer C.C. Like Banks, each of these consumers was eligible to receive PAS under the CHC Waiver, and each consumer's services similarly were administered by AmeriHealth.

Your Affiant compared records from Silver Heart, First Choice, and Golden Age, and found overlaps among the PAS hours Farris reported to Silver Heart and Golden Age. The spreadsheet below details these instances, amounting to at least 26.25 hours of overlapping services and \$575.40 in Medicaid claims paid out by AmeriHealth.

AOPC 411C - Rev. 12/21

			🖗 PC	LICE CRI	MINAL COMPLAINT
Docket Number:	Date Filed; / /	OTN/LiveScan Number	Complair	nt Number	Incident Number
Defendant Name	First: Tiffany	Middle: Midd	le	Last: Farris	<u></u>

			Farris - P	AS Overlaps			
	Silver Heart		(Golden Age			
Date	Tìme In	Time Out	Date	Time In	Time Out	Overlap (Rounded)	Total
7/11/2022	10:02 AM	4:02 PM	7/11/2022	3:00 PM	11:00 PM	1.00	\$21.92
7/15/2022	10:35 AM	4:35 PM	7/15/2022	3:01 PM	11:00 PM	1.50	\$32.88
7/20/2022	9:19 AM	3:19 PM	7/20/2022	3:00 PM	11:00 PM	0.25	\$5.48
8/2/2022	9:16 AM	3:18 PM	8/2/2022	3:00 PM	11:00 PM	0.25	\$5.48
8/12/2022	9:16 AM	3:23 PM	8/12/2022	3:00 PM	11:00 PM	0.25	\$5.48
8/16/2022	9:31 AM	3:31 PM	8/16/2022	3:00 PM	11:00 PM	0.50	\$10.96
8/22/2022	9:26 AM	3:26 PM	8/22/2022	3:00 PM	11:00 PM	0,25	\$5.48
8/23/2022	11:34 AM	5:41 PM	8/23/2022	3:00 PM	11:00 PM	2,50	\$54.80
8/24/2022	9:20 AM	3:20 PM	8/24/2022	3:00 PM	11:01 PM	0.25	\$5,48
9/12/2022	9:16 AM	3:16 PM	9/12/2022	3:00 PM	11:01 PM	0,25	\$5.48
9/27/2022	9:32 AM	3:32 PM	9/27/2022	3:00 PM	11:00 PM	0.50	\$10.96
9/30/2022	9:48 AM	3:48 PM	9/30/2022	3:02 PM	11:01 PM	0.75	\$16.44
10/3/2022	10:33 AM	4:33 PM	10/3/2022	3:00 PM	11:00 PM	1.50	\$32.88
10/18/2022	9:17 AM	3:19 PM	10/18/2022	3:00 PM	11:00 PM	0.25	\$5.48
10/20/2022	9:44 AM	3:44 PM	10/20/2022	3:00 PM	11:00 PM	0.50	\$10.96
10/21/2022	9:33 AM	3:33 PM	10/21/2022	3:00 PM	11:00 PM	0.50	\$10.96
10/28/2022	9:15 AM	3:15 PM	10/28/2022	3:00 PM	11:00 PM	0.25	\$5.48
11/9/2022	10;17 AM	4:17 PM	11/9/2022	3:00 PM	11:00 PM	1.25	\$27.40
11/16/2022	10:48 AM	4:48 PM	11/16/2022	3:00 PM	11:00 PM	1,75	\$38.36
11/17/2022	10:03 AM	4:03 PM	11/17/2022	3:00 PM	11:00 PM	1.00	\$21.92
11/18/2022	11:19 AM	5:20 PM	11/18/2022	3:00 PM	11:00 PM	2.25	\$49.32
11/21/2022	10:18 AM	4:18 PM	11/21/2022	3:00 PM	11:00 PM	1.25	\$27.40
11/23/2022	10:10 AM	4:10 PM	11/23/2022	3:00 PM	11:00 PM	1.00	\$21.92
11/29/2022	9:19 AM	3:19 PM	11/29/2022	3:00 PM	11:00 PM	0,25	\$5.48
12/9/2022	10:17 AM	4:16 PM	12/9/2022	3:00 PM	11:00 PM	1.25	\$27.40
12/12/2022	9:33 AM	3:33 PM	12/12/2022	3:00 PM	11:00 PM	0.50	\$10.96
12/13/2022	9:20 AM	3:20 PM	12/13/2022	3:00 PM	11:00 PM	0.25	\$5.48
12/14/2022	10:41 AM	4:41 PM	12/14/2022	3:00 PM	11:00 PM	1.50	\$32.88
12/15/2022	9:22 AM	3:22 PM	12/15/2022	3:00 PM	11:00 PM	0,25	\$5.48
12/16/2022	9:45 AM	3:45 PM	12/16/2022	3:00 PM	11:00 PM	0.75	\$16.44
12/22/2022	10:02 AM	4:02 PM	12/22/2022	3:00 PM	11:00 PM	1.00	\$21.92
12/26/2022	9:50 AM	3:50 PM	12/26/2022	3:00 PM	11:00 PM	0.75	\$16.44
						26.25	\$575.40

Your Affiant also compared records from First Choice, Golden Age, and Terrace, and found overlaps among PAS hours Farris had submitted to each agency. The below spreadsheet demonstrates these instances, which amount to at least 437.50 hours of overlapping services and \$9,585.69 in Medicaid claims paid out by AmeriHealth.

		ą	PC			NT
Docket Number:	Date Filed:	OTN/LiveScan Number	Complair	nt Number	Incident Number	
				T ((((((((((<u> </u>
Defendant Name	First: Tiffany	Middle: Middle		Last: Farris		

Farris - Terrace at Chestnut Hill/PAS Overlap Terrace CH PAS Agency											
Ter	race CH		PAS A	gency	1		1				
Date(s)	Time In	Time Out	Date(s)	Time In	Time Out	Agency (Consumer)	Overlap	Total			
4/6/2022 - 4/7/2022	2:57 PM	6:57 AM	4/6/2022 - 4/7/2022	11:00 PM	7:14 AM	First Choice (CFL)	7.75	\$166.78			
4/7/2022	3:00 PM	11:16 PM	4/7/2022 - 4/8/2022	11:01 PM	7:18 AM	First Choice (CFL)	0.25	\$5.38			
4/8/2022	7:02 AM	11:12 PM	4/7/2022 - 4/8/2022	11:01 PM	7:18 AM	First Choice (CFL)	0.25	\$5.38			
4/9/2022	7:00 AM	3:13 PM	4/8/2022 - 4/9/2022	11:05 PM	7:53 AM	First Choice (CFL)	0.75	\$16.14			
4/21/2022	7:07 AM	11:10 PM	4/20/2022 - 4/21/2022	11:00 PM	8:13 AM	First Choice (CFL)	1.00	\$21.52			
4/22/2022	7:23 AM	11:13 PM	4/21/2022 - 4/22/2022	11:00 PM	8:03 AM	First Choice (CFL)	0.50	\$10.76			
4/25/2022	7:59 AM	11:19 PM	4/25/2022 - 4/26/2022	11:00 PM	8:18 AM	First Choice (CFL)	0.25	\$5.48			
4/26/2022	3:02 PM	11:16 PM	4/26/2022 - 4/27/2022	11:01 PM	7:15 AM	First Choice (CFL)	0.25	\$5.48			
4/28/2022	7:05 AM	3:52 PM	4/27/2022 - 4/28/2022	11:01 PM	7:29 AM	First Choice (CFL)	0.25	\$5.48			
4/30/2022	7:00 AM	11:00 PM	4/29/2022 - 4/30/2022	11:00 PM	7:35 AM	First Choice (CFL)	0.50	\$10.96			
5/3/2022	2:58 PM	11:18 PM	5/3/2022 - 5/4/2022	11:00 PM	7:54 AM	First Choice (CFL)	0.25	\$5.48			
5/6/2022	3:12 PM	11:47 PM	5/6/2022 - 5/7/2022	11:14 PM	7:52 AM	First Choice (CFL)	0.50	\$10.96			
5/9/2022	3:05 PM	11:18 PM	5/9/2022 - 5/10/2022	11:00 PM	7:56 AM	First Choice (CFL)	0.25	\$5.48			
5/14/2022	8:00 AM	11:20 PM	5/14/2022 - 5/15/2022	11:02 PM	7:04 AM	First Choice (CFL)	0.25	\$5.48			
5/20/2022	3:06 PM	11:27 PM	5/20/2022-5/21/2022	11:02 PM	7:53 AM	First Choice (CFL)	0.25	\$5.48			
5/21/2022	7:34 AM	11:19 PM	5/20/2022-5/21/2022	11:02 PM	7:53 AM	First Choice (CFL)	0.25	\$5.48			
5/23/2022	3:01 PM	11:17 PM	5/23/2022 - 5/24/2022	11:00 PM	8:05 AM	First Choice (CFL)	0.25	\$5.48			
5/25/2022	3:09 PM	11:30 PM	5/25/2022 - 5/26/2022	11:00 PM	8:00 AM	First Choice (CFL)	0.50	\$10.96			
6/1/2022	2:59 PM	11:32 PM	6/1/2022 - 6/2/2022	11:00 PM	8:04 AM	First Choice (CFL)	0.50	\$10.96			
6/4/2022	7:47 AM	11:16 PM	6/3/2022 - 6/4/2022	11:00 PM	9:01 AM	First Choice (CFL)	1.00	\$21.92			
6/5/2022	11:02 PM	3:16 PM	6/5/2022 - 6/6/2022	11:00 PM	7:00 AM	First Choice (CFL)	7.75	\$169.88			
6/6/2022 - 6/7/2022	11:19 PM	2:56 PM	6/6/2022 - 6/7/2022	11:00 PM	7:37 AM	First Choice (CFL)	8.25	\$180.84			
6/7/2022 - 6/8/2022	11:21 PM	8:20 AM	6/7/2022 - 6/8/2022	11:00 PM	7:59 AM	First Choice (CFL)	8.25	\$180.84			
6/8/2022	3:00 PM	11:18 PM	6/8/2022 - 6/9/2022	11:00 PM	8:13 AM	First Choice (CFL)	0.25	\$5.48			
6/11/2022	7:07 AM	11:16 PM	6/10/2022 - 6/11/2022	11:11 PM	8:30 AM	First Choice (CFL)	1.25	\$27.40			
6/11/2022	7:07 AM	11:16 PM	6/11/2022 - 6/12/2022	11:00 PM	9:00 AM	First Choice (CFL)	0.25	\$5.48			
6/12/2022	7:14 AM	11:00 PM	6/11/2022 - 6/12/2022	11:00 PM	9:00 AM	First Choice (CFL)	1.75	\$38.36			
6/15/2022	3:37 PM	11:29 PM	6/15/2022 - 6/16/2022	11:01 PM	7:11 AM	First Choice (CFL)	0.25	\$5.48			
6/20/2022	3:03 PM	11:18 PM	6/20/2022 - 6/21/2022	11:02 PM	9:00 AM	First Choice (CFL)	0.25	\$5.48			
6/25/2022	2:48 PM	11:17 PM	6/25/2022 - 6/26/2022	11:01 PM	9:22 AM	First Choice (CFL)	0.25	\$5.48			
6/29/2022	3:10 PM	11:20 PM	6/29/2022 - 6/30/2022	11:01 PM	8:44 AM	First Choice (CFL)	0.25	\$5.48			
7/5/2022	3:13 PM	11:31 PM	7/5/2022	3:00 PM	11:00 PM	Golden Age (CC)	7.75	\$169.88			
7/5/2022	3:13 PM	11:31 PM	7/5/2022 - 7/6/2022	11:05 PM	9:03 AM	First Choice (CFL)	0.25	\$5.48			
7/6/2022	3:36 PM	11:00 PM	7/6/2022	3:00 PM	11:00 PM	Golden Age (CC)	7.25	\$158.92			
7/8/2022	3:00 PM	11:00 PM	7/8/2022	2:54 PM	11:01 PM	Golden Age (CC)	8.00	\$175.36			
7/9/2022 - 7/10/2022	3:00 PM	7:10 AM	7/9/2022 - 7/10/2022	11:00 PM	7:00 AM	First Choice (CFL)	8.00	\$175.36			
7/10/2022 - 7/11/2022	2:48 PM	7:00 AM	7/10/2022 - 7/11/2022	11:01 PM	7:22 AM	First Choice (CFL)	7.75	\$169.88			
7/13/2022 - 7/14/2022	3:06 PM	7:00 AM	7/13/2022	3:04 PM	11:00 PM	Golden Age (CC)	7.75	\$169.88			
7/13/2022 - 7/14/2022	3:06 PM	7:00 AM	7/13/2022 - 7/14/2022	11:00 PM	7:00 AM	First Choice (CFL)	8.00	\$175.36			
7/14/2022	2:56 PM	11:00 PM	7/14/2022	3:00 PM	11:00 PM	Golden Age (CC)	8.00	\$175.36			

AOPC 411C - Rev. 12/21

NNN

			🖄 PC		INAL COMPLAINT
Docket Number:	Date Filed: / /	OTN/LiveScan Number	Complair	it Number	Incident Number
Defendant Name	First: Tiffany	Middle: Middle		Last: Farris	

			Farris - Terrace at Chestnut		iab I			
Ter	race CH		PAS A	gency				
Date(s)	Time In	Time Out	Date(s)	Time In	Time Out	Agency (Consumer)	Overlap	Total
7/16/2022	3:00 PM	11:25 PM	7/16/2022 - 7/17/2022	11:00 PM	7:38 AM	First Choice (CFL)	0.25	\$5.48
7/18/2022	3:50 PM	11:05 PM	7/18/2022	3:04 PM	11:02 PM	Golden Age (CC)	7.00	\$153.44
7/19/2022	3:01 PM	11:05 PM	7/19/2022	3:02 PM	11:00 PM	Golden Age (CC)	7.75	\$169.88
7/20/2022	3:12 PM	11:00 PM	7/20/2022	3:00 PM	11:00 PM	Golden Age (CC)	7.75	\$169.88
7/22/2022	3:45 PM	11:20 PM	7/22/2022	3:00 PM	11:00 PM	Golden Age (CC)	7.25	\$158.92
7/23/2022	7:09 AM	11:02 PM	7/22/2022 - 7/23/2022	11:00 PM	7:39 AM	First Choice (CFL)	0.50	\$10.96
7/24/2022	3:32 PM	11:20 PM	7/24/2022 - 7/25/2022	11:00 PM	7:39 AM	First Choice (CFL)	0.25	\$5.48
7/25/2022	3:10 PM	11:10 PM	7/25/2022	3:01 PM	11:01 PM	Golden Age (CC)	7.75	\$169.88
7/26/2022	2:56 PM	11:11 PM	7/26/2022	3:00 PM	11:00 PM	Golden Age (CC)	8.00	\$175.36
7/27/2022	3:07 PM	11:11 PM	7/27/2022	3:00 PM	11:00 PM	Golden Age (CC)	7.75	\$169.88
7/29/2022	8:03 AM	11:16 PM	7/29/2022	3:02 PM	11:01 PM	Golden Age (CC)	7.75	\$169.88
7/29/2022	8:03 AM	11:16 PM	7/29/2022 - 7/30/2022	11:00 PM	7:58 AM	First Choice (CFL)	0.25	\$5.48
7/30/2022	2:59 PM	11:15 PM	7/30/2022 - 7/31/2022	11:00 PM	7:00 AM	First Choice (CFL)	0.25	\$5.48
8/1/2022	3:00 PM	11:20 PM	8/1/2022	3:00 PM	11:00 PM	Golden Age (CC)	8.00	\$175.36
8/2/2022 - 8/3/2022	3:13 PM	7:21 AM	8/2/2022	3:00 PM	11:00 PM	Golden Age (CC)	7.75	\$169.88
8/2/2022 - 8/3/2022	3:13 PM	7:21 AM	8/2/2022 - 8/3/2022	11:00 PM	7:28 AM	First Choice (CFL)	8.25	\$180.84
8/3/2022	3:05 PM	11:19 PM	8/3/2022	3:00 PM	11:03 PM	Golden Age (CC)	7.75	\$169.88
8/4/2022 - 8/5/2022	3:08 PM	7:11 AM	8/4/2022	3:01 PM	11:00 PM	Golden Age (CC)	7.75	\$169.88
8/4/2022 - 8/5/2022	3:08 PM	7:11 AM	8/4/2022 - 8/5/2022	11:00 PM	7:16 AM	First Choice (CFL)	8.00	\$175.36
8/5/2022	2:50 PM	11:00 PM	8/5/2022	2:43 PM	11:01 PM	Golden Age (CC)	8.00	\$175.36
8/7/2022	3:08 PM	11:20 PM	8/7/2022 - 8/8/2022	11:00 PM	7:22 AM	First Choice (CFL)	0.25	\$5.37
8/9/2022 - 8/10/2022	3:07 PM	12:00 AM	8/9/2022	3:00 PM	11:00 PM	Golden Age (CC)	7,75	\$169.88
8/9/2022 - 8/10/2022	3:07 PM	7:00 AM	8/9/2022 - 8/10/2022	11:00 PM	7:52 AM	First Choice (CFL)	8.00	\$175.36
8/9/2022 - 8/10/2022	3:21 PM	11:09 PM	8/10/2022	3:01 PM	11:01 PM	Golden Age (CC)	7.50	\$164.40
		11:09 PM	8/11/2022	3:00 PM	11:00 PM	Golden Age (CC)	7.75	\$169.88
8/11/2022	3:07 PM		8/11/2022	3:00 PM	11:00 PM	Golden Age (CC)	7.75	\$169.88
8/17/2022	3:01 PM	11:15 PM					0.25	\$105.80
8/17/2022 8/18/2022 -	3:01 PM 8:53 AM	11:15 PM 7:23 AM	8/17/2022 - 8/18/2022 8/18/2022	11:00 PM 3:00 PM	8:30 AM 11:00 PM	First Choice (CFL) Golden Age (CC)	8.00	\$175.36
8/19/2022	0.55 AW	7,23 AW	07 107 2022	3.001.141	11.001.11			+
8/18/2022 - 8/19/2022	8:53 AM	7:23 AM	8/18/2022 - 8/19/2022	11:00 PM	7:39 AM	First Choice (CFL)	8.25	\$180.84
8/25/2022 - 8/26/2022	3:12 PM	7:00 AM	8/25/2022	3:00 PM	11:01 PM	Golden Age (CC)	7.75	\$169.88
8/25/2022 - 8/26/2022	3:12 PM	7:00 AM	8/25/2022 - 8/26/2022	11:02 PM	7:43 AM	First Choice (CFL)	7.75	\$169.88
8/26/2022	3:19 PM	11:13 PM	8/26/2022	3:00 PM	11:00 PM	Golden Age (CC)	7.50	\$164.40
8/29/2022	3:09 PM	11:07 PM	8/29/2022	3:00 PM	11:00 PM	Golden Age (CC)	7.75	\$169.88
8/30/2022	2:53 PM	11:11 PM	8/30/2022	3:00 PM	11:00 PM	Golden Age (CC)	8.00	\$175.36
8/31/2022	3:00 PM	11:00 PM	8/31/2022	3;00 PM	11:00 PM	Golden Age (CC)	8.00	\$175.30
9/2/2022	3:07 PM	11:00 PM	9/2/2022	3:00 PM	11:00 PM	Golden Age (CC)	7.75	\$169.8
9/4/2022 - 9/5/2022	3:06 PM	7:00 AM	9/5/2022	12:31 AM	7:30 AM	First Choice (CFL)	6.25	\$137.00
9/5/2022	2:58 PM	11:08 PM	9/5/2022	3:01 PM	11:03 PM	Golden Age (CC)	8.00	\$175.36
9/6/2022	3:04 PM	11:05 PM	9/6/2022	3:01 PM	11:01 PM	Golden Age (CC)	7.75	\$169.8

		POLICE CRIMINAL COMPLA						
Docket Number:	Date Filed: / /	OTN/LiveScan Number	Complain	t Number	Incident Number			
Defendant Name	First: Tiffany	Middle: Middle		Last: Farris				

			Farris - Terrace at Chestnut	Hill/PAS Over	lap			
1	errace CH		PAS A	gency				
Date(s)	Time In	Time Out	Time Out Date(s)		Time Out	Agency (Consumer)	Overlap	Total
9/7/2022	3:06 PM	11:14 PM	9/7/2022	3:01 PM	11:01 PM	Golden Age (CC)	7.75	\$169.8
9/8/2022	3:41 PM	11:07 PM	9/8/2022	3:00 PM	11:00 PM	Golden Age (CC)	7.25	\$158.9
9/12/2022	3:25 PM	11:14 PM	9/12/2022	3:00 PM	11:01 PM	Golden Age (CC)	7.50	\$164.4
9/13/2022	3:16 PM	11:18 PM	9/13/2022	3:00 PM	11:00 PM	Golden Age (CC)	7.50	\$164.4
9/13/2022	3:16 PM	11:18 PM	9/13/2022 - 9/14/2022	11:00 PM	7:35 AM	First Choice (CFL)	0.25	\$5.4
9/15/2022	3:31 PM	11:00 PM	9/15/2022	3:00 PM	11:00 PM	Golden Age (CC)	7.25	\$158.
9/19/2022	2:59 PM	11:07 PM	9/19/2022	3:00 PM	11:00 PM	Golden Age (CC)	8.00	\$175.
9/28/2022	3:42 PM	11:17 PM	9/28/2022	3:00 PM	11:00 PM	Golden Age (CC)	7.25	\$158.
9/28/2022	3:42 PM	11:17 PM	9/28/2022 - 9/29/2022	11:01 PM	8:28 AM	First Choice (CFL)	0.25	\$5,4
10/4/2022 - 10/5/2022	11:14 PM	7:59 AM	10/4/2022 - 10/5/2022	11:01 PM	8:40 AM	First Choice (CFL)	8.75	\$191.
10/6/2022 - 10/7/2022	11:14 PM	7:02 AM	10/6/2022 - 10/7/2022	11:00 PM	7:30 AM	First Choice (CFL)	7.75	\$169.
10/10/2022	6:47 AM	2:39 PM	10/9/2022 - 10/10/2022	11:13 PM	8:17 AM	First Choice (CFL)	1.50	\$32.8
10/14/2022- 10/15/2022	11:05 PM	11:09 AM	10/14/2022 - 10/15/2022	11:10 PM	8:36 AM	First Choice (CFL)	9.25	\$202.
					-		437.50	\$9,585

Your Affiant interviewed Banks at his residence on Friday, February 16, 2024. Banks confirmed that he received PAS services through Silver Heart and that Farris was his PCA. Banks stated that he was the one who clocked Farris in and out for her shifts and that Silver Heart only occasionally spoke to Farris to verify that she was there. Your Affiant interviewed Farris at her residence on Tuesday, February 27, 2024. Farris confirmed that she was employed as Banks's PCA through Silver Heart. She also confirmed that she had worked as a PCA for C.F.L. and C.C. She stated that Banks clocked her in and out for her shifts with Silver Heart, but she clocked herself in and out for her First Choice and Golden Age shifts.

In total, and as illustrated below, at least 2150.50 PAS hours were reported to Silver Heart, Golden Age, and First Choice for care that Farris could not have provided, for which the Medicaid system, through AmeriHealth, paid out at least \$44,433.15.

	Hours	\$ Amount
Silver Heart / Farris & Banks Outside Employment	1686.75	\$34,272.06
Silver Heart / Golden Age	26.25	\$575.40
Terrace / First Choice & Golden Age	437.50	\$9,585.69
	2150.50	\$44,433.15

I, <u>SPECIAL AGENT CATHERINE BERNER</u>, BEING DULY SWORN ACCORDING TO THE LAW, DEPOSE AND SAY THAT THE FACTS SET FORTH IN THE FOREGOING AFFIDAVIT ARE TRUE AND CORRECT TO THE BEST OF MY KNOWLEDGE, INFORMATION AND BELIEF.

				IINAL COMPLAINT
Docket Number:	Date Filed:	OTN/LiveScan Number	Complaint Number	Incident Number
	/ /		-	
Defendant Name	First: Tiffany	Middle: Middle	Last: Farris	

side a

AFFIDAVIT of PROBABLE CAUSE

I CERTIFY THAT THIS FILING COMPLIES WITH THE PROVISIONS OF THE CASE RECORDS PUBLIC ACCESS POLICY OF THE UNIFIED JUDICIAL SYSTEM OF PENNSYLVANIA THAT REQUIRE FILING CONFIDENTIAL INFORMATION AND DOCUMENTS DIFFERENTLY THAN NON-CONFIDENTIAL INFORMATION AND DOCUMENTS.

(Signature of Affiant) UNC Sworn to me and subscribed before/me day of , Magisterial District Judge Date

My commission expires first Monday of January, q/U/20U/

SEAL

Exhibit "A"

	Silver	Heart	Outside Em	ployment				
Date	Time In	Time Out	Time in	Time Out	Employer	Overlap	MCO Hourly	Total
6/9/2020	9:00 AM	7:00 PM	8:00 AM	2:00 PM	Stapeley (TF)	5.00	\$19.92	\$99.60
6/10/2020	8:59 AM	6:59 PM	8:00 AM	2:00 PM	Stapeley (TF)	5.00	\$19.92	\$99.60
6/11/2020	9:00 AM	7:00 PM	3:00 PM	11:00 PM	Stapeley (TF)	4.00	\$19.92	\$79.68
6/12/2020	9:09 AM	7:07 PM	3:00 PM	11:00 PM	Stapeley (TF)	4.00	\$19.92	\$79.68
6/13/2020	9:10 AM	10:09 PM	3:00 PM	11:00 PM	Stapeley (TF)	7.00	\$19,92	\$139.44
6/15/2020	8:59 AM	9:01 PM	3:00 PM	11:00 PM	Stapeley (TF)	6.00	\$19.92	\$119.52
6/17/2020	8:59 AM	7:01 PM	3:06 PM	11:04 PM	Stapeley (TF)	3.75	\$19.92	\$74.70
6/18/2020	9:00 AM	7:00 PM	2:50 PM	11:03 PM	Stapeley (TF)	4.00	\$19.92	\$79.68
6/19/2020	9:48 AM	7:47 PM	2:53 PM	11:00 PM	Stapeley (TF)	4.75	\$19.92	\$94.62
6/20/2020	9:10 AM	10:09 PM	3:00 PM	7:00 PM	Stapeley (TF)	4.00	\$19.92	\$79.68
6/22/2020	9:33 AM	9:32 PM	2:56 PM	11:01 PM	Stapeley (TF)	6.00	\$19.92	\$119.52
6/23/2020	9:00 AM	6:59 PM	3:11 PM	11:05 PM	Stapeley (TF)	3.75	\$19.92	\$74.70
6/24/2020	8:59 AM	7:00 PM	3:09 PM	11:02 PM	Stapeley (TF)	3.75	\$19.92	\$74.70
6/26/2020	9:04 AM	7:04 PM	2:57 PM	11:02 PM	Stapeley (TF)	4.00	\$19.92	\$79.68
6/27/2020	9:00 AM	10:00 PM	3:08 PM	10:20 PM	Stapeley (TF)	6.75	\$19.92	\$134.46
6/29/2020	9:00 AM	9:00 PM	4:38 PM	11:00 PM	Stapeley (TF)	4.25	\$19.92	\$84.66
0,20,2020	3.007.00		3:49 PM	11:02 PM	Wellington (JB)			·
7/1/2020	10:22 AM	8:24 PM	2:53 PM	11:00 PM	Stapeley (TF)	5.50	\$19.92	\$109.56
			3:36 PM	11:08 PM	Weilington (JB)		-	
7/2/2020	9:00 AM	7:00 PM	2:53 PM	10:55 PM	Stapeley (TF)	4.00	\$19.92	\$79.68
			3:14 PM	11:08 PM	Wellington (JB)	5.75	\$19.92	\$114.54
7/6/2020	9:01 AM	9:05 PM	4:07 PM	10:59 PM	Stapeley (TF)		-	
7/7/2020	8:59 AM	7:01 PM	2:58 PM	11:00 PM	Stapeley (TF)	4.00	\$19.92	\$79.68
7/8/2020	9:29 AM	7:29 PM	3:04 PM	10:55 PM	Stapeley (TF)	4.25	\$19.92	\$84.66
	1		3:26 PM	11:15 PM	Wellington (JB)	6.50	\$19.92	\$129.48
7/11/2020	9:00 AM	10:01 PM	3:17 PM	3:31 PM	Stapeley (TF)		-	
7/13/2020	9:00 AM	11:51 PM	3:07 PM	11:02 PM	Stapeley (TF)	7.75	\$19.92	\$154.38
			3:13 PM	11:07 PM	Wellington (JB)		-	
7/15/2020	9:00 AM	7:00 PM	2:37 PM	11:07 PM	Stapeley (TF)	4.25	\$19.92	\$84.66
		7 4 2 2 4	3:08 PM	7:08 AM	Wellington (JB)		-	
7/16/2020	9:13 AM	7:12 PM	2:56 PM	10:54 PM	Stapeley (TF)	4.25	\$19.92	\$84.66
			4:04 PM	11:03 PM	Wellington (JB)		-	
7/17/2020	9:00 AM	7:00 PM	3:13 PM	11:05 PM	Stapeley (TF)	3.75	\$19.92	\$74.70
			3:18 PM	11:09 PM	Wellington (JB)		-	
7/20/2020	9:00 AM	9:00 PM	2:53 PM	11:14 PM	Stapeley (TF)	6.00	\$19.92	\$119.5
	1	7.05.014	3:08 PM	7:01 AM	Wellington (JB)		-	
7/21/2020	9:00 AM	7:05 PM	2:55 PM	10:57 PM	Stapeley (TF)	4.00	\$19.92	\$79.68
	0.00 444	7.00 PM	3:22 PM	11:04 PM	Wellington (JB)		-	
7/23/2020	9:00 AM	7:00 PM	2:54 PM	11:00 PM	Stapeley (TF)	4.00	\$19.92	\$79.68
	44.45.454	0.14.014	3:18 PM	11:04 PM	Wellington (JB)		-	
7/24/2020	11:15 AM	9:14 PM	2:58 PM	11:02 PM	Stapeley (TF)	6.25	\$19.92	\$124.5
7 105 10000	10.10.11	44.40.004	3:11 PM	11:05 PM	Wellington (JB)	7.75	\$19.92	\$154.3
7/25/2020	10:10 AM	11:10 PM	2:59 PM	10:58 PM	Stapeley (TF)		-	
7 107 10000	0.00.001	0.00 014	2:55 PM	11:05 PM	Wellington (JB)	6.00	\$19.92	\$119.5
7/27/2020	9:00 AM	9:00 PM	3:33 PM	10:57 PM	Stapeley (TF)		-	
	0.000	7.00.00	3:22 PM	11:04 PM	Wellington (JB)		-	
7/29/2020	9:20 AM	7:22 PM	2:56 PM	11:00 PM	Stapeley (TF)	4.25	\$19.92	\$84.66

	Silver		Outside En		Outside Employment O	•		
Date	Time In	Time Out	Time In	Time Out	Employer	Overlap	MCO Hourly	Total
			3:50 PM	11:08 PM	Wellington (JB)		-	
7/30/2020	9:02 AM	7:02 PM	3:39 PM	10:58 PM	Stapeley (TF)	3.25	\$19.92	\$64.74
7/31/2020	9:08 AM	7:09 PM	3:22 PM	11:02 PM	Wellington (JB)	3.75	\$19.92	\$74.70
8/3/2020	9:01 AM	9:01 PM	3:07 PM	10:56 PM	Stapeley (TF)	5.75	\$19.92	\$114.54
			3:12 PM	7:10 AM	Wellington (JB)	3.75	\$19.92	\$74.70
8/4/2020	9:04 AM	7:04 PM	3:20 PM	11:01 PM	Stapeley (TF)		-	
			3:17 PM	11:07 PM	Wellington (JB)		- 1	
8/5/2020	9:01 AM	7:01 PM	2:54 PM	10:58 PM	Stapeley (TF)	4,00	\$19.92	\$79.68
8/6/2020	9:08 AM	7:08 PM	3:25 PM	11:04 PM	Wellington (JB)	3.50	\$19.92	\$69.72
0,0,2020	1 31007111	7.001111	3:12 PM	11:02 PM	Wellington (JB)		-	+
8/7/2020	9:00 AM	7:00 PM	3:00 PM	11:02 PM	Stapeley (TF)	4.00	\$19.92	\$79.68
			3:14 PM	11:03 PM	Wellington (JB)	6,75	\$19.92	\$134.40
8/8/2020	9:04 AM	10:04 PM	2:58 PM	9:31 PM	Stapeley (TF)	01/3	-	4 20 m
		1	3:19 PM	7:01 AM	Wellington (JB)	1		
8/10/2020	9:00 AM	9:00 PM	2:53 PM	11:02 PM	Stapeley (TF)	6.00	\$19.92	\$119.5
8/12/2020	9:00 AM	7:01 PM	3:11 PM	11:02 PM	Wellington (JB)	3.75	\$19.92	\$74.70
6/12/2020	3.00 AW	7.01 - 101	3:08 PM	11:13 PM	Wellington (JB)	5,75	943.32	
8/13/2020	8:59 AM	7:00 PM	2:55 PM	11:13 PM	Stapeley (TF)	4.00	\$19.92	\$79.68
			3:37 PM	10:30 PM	Weilington (JB)	4.00	713 ,32	J7J.00
8/14/2020	9:23 AM	7:23 PM	3:00 PM	10:58 PM	Stapeley (TF)	4.25	\$19.92	\$84.66
			3:46 PM	10:38 PM	Wellington (JB)	4.23	\$13.32	
8/17/2020	9:00 AM	9:01 PM			Stapeley (TF)	c 00	¢10.07	¢110 E
		1	2:54 PM	10:58 PM	Wellington (JB)	6.00	\$19.92	\$119.5
8/18/2020	9:10 AM	7:09 PM	3:21 PM	11:08 PM		4.00	\$19.92	\$79.68
			2:55 PM	11:04 PM	Stapeley (TF) Wellington (JB)	4.00	\$13.37	\$75.0d
8/19/2020	9:01 AM	7:00 PM	3:11 PM	11:11 PM		4.00	÷10.00	670.00
			2:52 PM	10:56 PM	Stapeley (TF)	4.00	\$19.92	\$79.68
8/21/2020	9:11 AM	7:10 PM	3:17 PM	11:25 PM	Wellington (JB)	4.00	- -	670.CC
		.	3:09 PM	11:00 PM	Stapeley (TF)	4.00	\$19.92	\$79.68
8/22/2020	9:32 AM	10:31 PM	3:10 PM	11:05 PM	Wellington (JB)	7.50	- -	6140 A
	<u> </u>		2:48 PM	11:03 PM	Stapeley (TF)	7,50	\$19.92	\$149.4
8/24/2020	9:23 AM	9:22 PM	4:09 PM	11:09 PM	Wellington (JB)		-	1.00 C
			3:38 PM	11:01 PM	Stapeley (TF)	5.50	\$19.92	\$109.5
8/26/2020	9:25 AM	7:25 PM	3:12 PM	11:07 PM	Wellington (JB)	1		d =
			2:54 PM	11:03 PM	Stapeley (TF)	4.50	\$19.92	\$89.64
8/27/2020	9:32 AM	7:32 PM	3:24 PM	11:07 PM	Wellington (JB)		-	A
,,=====			2:53 PM	11:02 PM	Stapeley (TF)	4.50	\$19,92	\$89.64
8/28/2020	9:00 AM	7:00 PM	3:14 PM	11:01 PM	Wellington (JB)			4
-,,			3:12 PM	7:00 AM	Stapeley (TF)	3.75	\$19.92	\$74.70
8/31/2020	9:00 AM	9:01 PM	3:07 PM	11:08 PM	Wellington (JB)	1		4
_,,			2:54 PM	11:05 PM	Stapeley (TF)	6.00	\$19.92	\$119.5
9/1/2020	9:07 AM	7:07 PM	3:01 PM	11:12 PM	Wellington (JB)	4.00	\$19.92	\$79.68
	1		3:09 PM	11:01 PM	Stapeley (TF)			
9/2/2020	9:00 AM	7:00 PM	3:16 PM	10:59 PM	Stapeley (TF)	3.50	\$19.92	\$69.72
9/3/2020	9:00 AM	7:00 PM	3:02 PM	11:02 PM	Wellington (JB)	3.75	\$19.92	\$74.70
9/4/2020	9:04 AM	7:03 PM	3:09 PM	11:10 PM	Wellington (JB)	3.75	\$19.92	\$74.70
3/4/2020	5.04 AW		3:35 PM	10:33 PM	Stapeley (TF)		-	
0/5/2020	9:00 414	10,02 014	2:59 PM	11:08 PM	Wellington (JB)	7.00	\$19.92	\$139.4
9/5/2020	9:00 AM	10:02 PM	3:07 PM	10:31 PM	Stapeley (TF)		-	

	Silver	Heart	Outside Err	ployment				
Date	Time In	Time Out	Time In	Time Out	Employer	Overlap	MCO Hourly	Total
0/3/2020	0.00 444	0.02.014	3:10 PM	11:10 PM	Wellington (JB)		-	
9/7/2020	9:00 AM	9:02 PM	2:56 PM	11:01 PM	Stapeley (TF)	6.00	\$19.92	\$119.52
0/0/2020	0.20 414	7.40 044	3:01 PM	11:05 PM	Wellington (JB)	4.50	\$19.92	\$89.64
9/9/2020	9:39 AM	7:40 PM	3:11 PM	11:00 PM	Stapeley (TF)		-	
		7.07.514	3:10 PM	11:12 PM	Wellington (JB)		-	
9/10/2020	9:01 AM	7:05 PM	2:52 PM	11:12 PM	Stapeley (TF)	4.00	\$19.92	\$79.68
			3:09 PM	11:07 PM	Wellington (JB)	3.75	\$19.92	\$74.70
9/11/2020	9:00 AM	7:00 PM	3:09 PM	10:26 PM	Stapeley (TF)		-	
			3:09 PM	11:10 PM	Wellington (JB)		-	
9/14/2020	9:02 AM	9:01 PM	2:56 PM	10:58 PM	Stapeley (TF)	6.00	\$19.92	\$119.52
			2:59 PM	11:07 PM	Wellington (JB)		-	
9/15/2020	9:00 AM	7:00 PM	2:58 PM	11:04 PM	Stapeley (TF)	4.00	\$19.92	\$79.68
9/16/2020	9:00 AM	7:00 PM	3:07 PM	11:02 PM	Stapeley (TF)	3.75	\$19.92	\$74.70
9/17/2020	9:02 AM	7:03 PM	3:01 PM	11:01 PM	Wellington (JB)	4.00	\$19.92	\$79.68
	1		3:08 PM	11.21 PM	Wellington (JB)	3,75	\$19.92	\$74.70
9/18/2020	9:00 AM	7:07 PM	3:09 PM	11:10 PM	Stapeley (TF)		-	,
	-		4:05 PM	11:12 PM	Wellington (JB)	5.75	\$19.92	\$114.54
9/19/2020	9:03 AM	10:03 PM	4:14 PM	11:01 PM	Stapeley (TF)		-	
9/21/2020	9:04 AM	9:03 PM	3:09 PM	11:08 PM	Wellington (JB)	5.75	\$19.92	\$114.54
			3:07 PM	11:04 PM	Wellington (JB)		-	<u> </u>
9/23/2020	9:00 AM	7:00 PM	3:03 PM	11:03 PM	Stapeley (TF)	3.75	\$19.92	\$74.70
			3:03 PM	11:07 PM	Wellington (JB)		-	+
9/24/2020	9:09 AM	7:08 PfM	2:59 PM	11:00 PM	Stapeley (TF)	4.00	\$19.92	\$79.68
			3:28 PM	11:07 PM	Wellington (JB)			
9/25/2020	9:32 AM	7:31 PM	3:00 PM	11:02 PM	Stapeley (TF)	4.50	\$19.92	\$89.64
			3:11 PM	11:07 PM	Wellington (JB)		-	
9/28/2020	8:57 AM	8:57 PM	3:08 PM	11:01 PM	Stapeley (TF)	5.75	\$19.92	\$114.54
			3:09 PM	11:15 PM	Wellington (JB)	4.00	\$19.92	\$79.68
9/29/2020	9:07 AM	7:10 PM	4:00 PM	11:03 PM	Stapeley (TF)			••••
9/30/2020	9:01 AM	7:03 PM	3:05 PM	11:00 PM	Stapeley (TF)	3.75	\$19.92	\$74.70
3) 30/ 2020	5.627.04	1.0311	4:09 PM	7:00 AM	Wellington (JB)		-	
10/1/2020	9:00 AM	7:00 PM	3:08 PM	11:02 PM	Stapeley (TF)	3.75	\$19.92	\$74.70
			3:29 PM	11:04 PM	Wellington (JB)		-	
10/2/2020	9:00 AM	7:00 PM	3:19 PM	11:03 PM	Stapeley (TF)	3.50	\$19.92	\$69.72
·····,			3:29 PM	11:02 PM	Wellington (JB)			<u> </u>
10/3/2020	9:06 AM	10:08 PM	3:00 PM	11:00 PM	Stapeley (TF)	7,00	\$19.92	\$139.4
· · · · · · · · · · · · · · · · · · ·			3:02 PM	11:01 PM	Wellington (JB)	5.75	\$19.92	\$114.5
10/5/2020	9:01 AM	9:01 PM	3:02 PM	11:05 PM	Stapeley (TF)		<i>\$</i> 10102	ý22 1.0
			3:10 PM	11:06 PM	Wellington (JB)	3.75	\$19.92	\$74.70
10/7/2020	8:59 AM	7:00 PM	3:11 PM	10:59 PM	Stapeley (TF)	3.7.5	-	φ,
			3:09 PM	10:00 PM	Wellington (JB)	_	1	
10/8/2020	9:02 AM	7:01 PM	3:08 PM	10:57 PM	Stapeley (TF)	3.75	\$19.92	\$74.70
		+	3:02 PM	11:01 PM	Wellington (JB)	3.75	\$19.92	\$74.70
10/9/2020	9:00 AM	7:01 PM	3:02 PM	11:05 PM	Stapeley (TF)	5.75	20,020	φ / π./t
	1		3:16 PM	11:13 PM	Wellington (JB)	7.75	\$19.92	\$154.3
10/10/2020	11:29 AM	12:04 AM		9:09 PM		1.13	75,54	7104.0
10/12/2020	0.00 454	0.00 04	3:35 PM		Stapeley (TF) Wellington (JB)	E 76	\$19.92	\$114.5
10/12/2020 10/13/2020	9:00 AM 10:54 AM	9:00 PM 8:54 PM	3:15 PM 3:09 PM	11:07 PM 11:06 PM	Wellington (JB)	5.75	\$19.92	\$114.5

Silver Heart Outside Employment												
Date	Time In	Time Out	Time In	Time Out	Employer	Overlap	MCO Hourly	Total				
10/15/2020	9:00 AM	7:02 PM	3:17 PM	11:01 PM	Wellington (JB)	3.75	\$19.92	\$74.70				
10/16/2020	9:04 AM	7:03 PM	3:01 PM	11:04 PM	Wellington (JB)	4.00	\$19.92	\$79.68				
			3:15 PM	11:08 PM	Wellington (JB)		- 1					
10/17/2020	9:11 AM	10:11 PM	3:00 PM	11:00 PM	Barclay Friends (TF)	7.00	\$19.92	\$139.44				
· · · · · · · · · · · · · · ·			2:14 PM	11:05 PM	Wellington (JB)	7.75	\$19.92	\$154.38				
10/19/2020	10:12 AM	10:12 PM	3:00 PM	11:00 PM	Barclay Friends (TF)		-					
10/21/2020	9:19 AM	7:20 PM	3:14 PM	11:02 PM	Wellington (JB)	4.00	\$19.92	\$79.68				
			2:55 PM	11:01 PM	Wellington (JB)	4,00	\$19.92	\$79.68				
10/22/2020	9:00 AM	7:01 PM	3:00 PM	11:00 PM	Barclay Friends (TF)		-					
			3:15 PM	11:28 PM	Wellington (JB)		-					
10/23/2020	9:04 AM	7:09 PM	3:00 PM	11:00 PM	Barclay Friends (TF)	4.00	\$19.92	\$79.68				
			3:18 PM	11:05 PM	Wellington (JB)		-					
10/26/2020	9:00 AM	9:02 PM	3:00 PM	11:00 PM	Barclay Friends (TF)	6.00	\$19.92	\$119.52				
	+		3:05 PM	11:09 PM	Wellington (JB)		-					
10/27/2020	9:42 AM	7:44 PM	3:00 PM	11:00 PM	Barclay Friends (TF)	4.50	\$19.92	\$89.64				
			2:59 PM	11:05 PM	Wellington (JB)	4.00	\$19.92	\$79.68				
10/29/2020	9:00 AM	7:00 PM	3:00 PM	11:00 PM	Barclay Friends (TF)		-	•				
			3:04 PM	11:01 PM	Wellington (JB)		-					
10/30/2020	9:00 AM	7:00 PM	3:00 PM	11:00 PM	Barclay Friends (TF)	4.00	\$19.92	\$79.68				
10/31/2020	9:00 AM	10:00 PM	2:59 PM	11:01 PM	Wellington (JB)	7.00	\$19.92	\$139.4				
11/2/2020	9:30 AM	9:30 PM	3:00 PM	11:03 PM	Wellington (JB)	6.50	\$19.92	\$129.4				
11/2/2020	9:10 AM	7:12 PM	3:40 PM	11:04 PM	Wellington (JB)	3.50	\$19.92	\$69.72				
11/4/2020	9:41 AM	7:41 PM	3:06 PM	11:00 PM	Wellington (JB)	4.50	\$19.92	\$89.64				
11/3/2020	3.41 AW	7.41 1101	3:02 PM	10:43 PM	Wellington (JB)	-1150		+				
11/6/2020	9:07 AM	7:09 PM	3:00 PM	11:00 PM	Barclay Friends (TF)	4.00	\$19.92	\$79.68				
			3:06 PM	11:04 PM	Wellington (JB)	5.75	\$19.92	\$114.5				
11/9/2020	9:00 AM	9:00 PM	3:30 PM	11:00 PM	Barclay Friends (TF)	0.70		+				
11/10/2020	9:05 AM	7:06 PM	2:59 PM	11:10 PM	Wellington (JB)	4.00	\$19.92	\$79.68				
11/12/2020	9:07 AM	7:06 PM	3:13 PM	10:58 PM	Wellington (JB)	3.75	\$19.92	\$74.70				
11/13/2020	9:02 AM	7:02 PM	3:05 PM	11:00 PM	Wellington (JB)	3.75	\$19.92	\$74.70				
11/13/2020	5.02 AIVI	7.02 1 101	2:58 PM	7:09 AM	Wellington (JB)		-					
11/14/2020	9:02 AM	10:03 PM	7:55 AM	9:51 PM	Barclay Friends (TF)	12,75	\$19.92	\$253.9				
	1	·	2:53 PM	11:04 PM	Wellington (JB)	6.00	\$19.92	\$119.5				
11/16/2020	9:02 AM	9:02 PM	3:05 PM	11:07 PM	Barclay Friends (TF)			+				
11/30/2020	9:29 AM	9:34 PM	3:29 PM	11:23 PM	Wellington (JB)	6.00	\$19.92	\$119.5				
11/30/2020	5.25 AIVE	5.54110	2:57 PM	11:02 PM	Wellington (JB)	4.00	\$19.92	\$79.68				
12/1/2020	9:01 AM	7:00 PM	3:06 PM	11:06 PM	Barclay Friends (TF)		-					
			3:03 PM	11:03 PM	Wellington (JB)		-					
12/2/2020	8:59 AM	7:00 PM	3:00 PM	11:00 PM	Barclay Friends (TF)	4.00	\$19.92	\$79.68				
12/2/2020	10:00 444	8:09 PM	4:23 PM	11:03 PM	Wellington (JB)	3.75	\$19.92	\$74.70				
12/3/2020	10:09 AM	0.03 FIV	2:53 PM	11:14 PM	Wellington (JB)	4.00	\$19.92	\$79.68				
12/4/2020	9:03 AM	7:05 PM	3:03 PM	11:14 PW	Barclay Friends (TF)		<u>م</u> کر، صغرب _	φ, σ , σ				
				11:19 PM	Wellington (JB)							
12/7/2020	9:57 AM	9:57 PM	4:28 PM	1		6.75	\$19.92	\$134.4				
		<u></u>	3:10 PM	11:08 PM	Barclay Friends (TF) Wellington (JB)		\$19.92	\$134.4				
12/8/2020	11:46 AM	9:46 PM	2:58 PM	11:04 PM		6.75		4194.4				
			3:12 PM	11:10 PM	Barclay Friends (TF)	1	10					
12/10/2020	9:01 AM	7:01 AM	5:00 PM 9:22 AM	11:03 PM 11:14 PM	Wellington (JB) Barclay Friends (TF)	9.50	\$19.92	\$189.2				

	Silver	Heart	Outside Err	ployment				
Date	Time In	Time Out	Time In	Time Out	Employer	Overlap	MCO Hourly	Total
	1		2:56 PM	11:02 PM	Wellington (JB)	4.00	\$19.92	\$79.68
12/11/2020	9:03 AM	7:06 PM	3:07 PM	11:08 PM	Barclay Friends (TF)		-	
			3:15 PM	11:00 PM	Wellington (JB)		-	
12/12/2020	9:15 AM	10:15 PM	3:01 PM	6:33 AM	Barclay Friends (TF)	7.00	\$19.92	\$139.44
12/14/2020	9:14 AM	9:14 PM	3:28 PM	11:04 PM	Wellington (JB)	5.75	\$19.92	\$114.54
12/15/2020	9:02 AM	7:03 PM	3:04 PM	11:06 PM	Barclay Friends (TF)	3.75	\$19.92	\$74.70
10/10/0000	0.00.444	7.02.014	3:16 PM	10:53 PM	Weilington (JB)	3.75	\$19.92	\$74.70
12/16/2020	9:03 AM	7:03 PM	3:42 PM	10:07 PM	Barclay Friends (TF)		-	
40/47/0000	0.01 414	7.02 014	2:56 PM	11:04 PM	Wellington (JB)	4.00	\$19.92	\$79.68
12/17/2020	9:01 AM	7:02 PM	3:07 PM	10:34 PM	Barclay Friends (TF)		-	
12/18/2020	0.00 444	7.00 014	2:56 PM	4:32 AM	Wellington (JB)		-	
12/18/2020	9:00 AM	7:00 PM	9:40 AM	11:00 PM	Barclay Friends (TF)	9.25	\$19.92	\$184.26
42 (22 /2020	0.26 444	7.01 014	2:54 PM	11:14 PM	Wellington (JB)	4.50	\$19.92	\$89.64
12/22/2020	9:26 AM	7:31 PM	2:59 PM	11:12 PM	Barclay Friends (TF)		-	
12/22/2020	0.50 414	C.F.O. DNA	4:32 PM	11:08 PM	Weilington (JB)		-	
12/23/2020	8:59 AM	6:59 PM	2:49 PM	11:19 PM	Barclay Friends (TF)	4.00	\$19.92	\$79.68
12/24/2020	0.01 444	7.02 004	3:09 PM	10:47 PM	Wellington (JB)	3.75	\$19.92	\$74.70
12/24/2020	9:01 AM	7:02 PM	3:44 PM	10:01 PM	Barclay Friends (TF)		-	
12/25/2020	10.02.444	0.02.014	10:17 AM	11:06 PM	Wellington (JB)	9.75	\$19.92	\$194.2
12/25/2020	10:02 AM	8:02 PM	10:21 AM	11:11 PM	Barclay Friends (TF)		-	
12/20/2020	0.12 ANA	10-11 014	3:02 PM	11:02 PM	Wellington (JB)	7.00	\$19.92	\$139.4
12/26/2020	9:12 AM	10:11 PM	3:08 PM	11:11 PM	Barclay Friends (TF)		~	
12/28/2020	9:03 AM	7:00 PM	3:01 PM	11:03 PM	Wellington (JB)	3.75	\$19.92	\$74.70
12/29/2020	9:00 AM	6:59 PM	3:33 PM	11:02 PM	Wellington (JB)	3.25	\$19.92	\$64.74
12/29/2020	9.00 AW	0.55 FIVI	3:42 PM	11:08 PM	Barclay Friends (TF)			
12/30/2020	9:00 AM	7:00 PM	2:54 PM	11:00 PM	Wellington (JB)	4.00	\$19.92	\$79.68
12/30/2020	3.00 AW	7,00 FIM	3:01 PM	11:00 PM	Barclay Friends (TF)		-	
12/31/2020	9:00 AM	7:38 PM	3:00 PM	11:00 PM	Barclay Friends (TF)	4.50	\$19.92	\$89.64
1/1/2021	9:00 AM	7:00 PM	2:54 PM	11:06 PM	Wellington (JB)	4.00	\$19.92	\$79.68
1/1/2021	5.00 AM	7.00 FIVI	3:00 PM	11:00 PM	Barclay Friends (TF)		-	
1/4/2021	9:09 AM	9:08 PM	2:56 PM	11:06 PM	Wellington (JB)		-	
1/4/2021	J.05 AW	3.001101	8:22 AM	11:29 PM	Barclay Friends (TF)	11.75	\$19.92	\$234.0
1/5/2021	9:00 AM	7:06 PM	3:04 PM	11:08 PM	Wellington (JB)	4.00	\$19.92	\$79.68
1/3/2021	5.00 AW	7.00 PM	3:12 PM	11:27 PM	Barclay Friends (TF)		-	
1/6/2021	9:00 AM	7:27 PM	9:30 AM	11:11 PM	Barclay Friends (TF)	9,75	\$19.92	\$194.2
1/7/2021	9:00 AM	7:02 PM	4:30 PM	11:00 PM	Wellington (JB)	2.50	\$19.92	\$49,80
1/8/2021	9:00 AM	7:01 PM	2:54 PM	11:07 PM	Wellington (JB)		-	
T/ 0/ 4041	5.00 AW		8:13 AM	11:10 PM	Barclay Friends (TF)	10.00	\$19.92	\$199.2
1/9/2021	10:13 AM	10:00 PM	3:01 PM	11:03 PM	Wellington (JB)	6.75	\$19.92	\$134.4
1/3/2021	I TO'TO MINI	1 10.00 - 141	3:08 PM	11:10 PM	Barclay Friends (TF)		-	
1/11/2021	10:16 AM	10:23 PM	3:02 PM	11:13 PM	Wellington (JB)	7.25	\$19.92	\$144.4
1/12/2021	9:00 AM	7:05 PM	2:55 PM	11:06 PM	Wellington (JB)		-	
1/12/2021	J.UU MIVI		2:53 PM	11:11 PM	Barclay Friends (TF)	4.00	\$19.92	\$79.68
1/12/2021	9:02 AM	7:01 PM	2:54 PM	11:04 PM	Wellington (JB)	4.00	\$19.92	\$79.68
1/13/2021	9:02 AIVI		3:01 PM	11:13 PM	Barclay Friends (TF)		-	
1/14/2024	9:03 AM		3:11 PM	11:08 PM	Wellington (JB)	3.75	\$19,92	\$74.70
1/14/2021	5.05 AW	7:02 PM	3:19 PM	11: 11 PM	Barclay Friends (TF)		-	

	Silver	Heart	Outside Em	nployment				
Date	Time In	Time Out	Time In	Time Out	Employer	Overlap	MCO Houriy	Total
1/10/2021	0.03 444	0.02 014	2:54 PM	11:04 PM	Wellington (JB)	6.00	\$19.92	\$119.52
1/18/2021	9:03 AM	9:03 PM	3:03 PM	11:07 PM	Barclay Friends (TF)		-	
1/10/2021	0:01 AN4	7.01 DM	3:10 PM	11:00 PM	Wellington (JB)	3,75	\$19.92	\$74.70
1/19/2021	9:01 AM	7:01 PM	3:19 PM	11:06 PM	Barclay Friends (TF)		-	
1/20/2021	9:02 AM	7:02 PM	3:06 PM	11:06 PM	Barclay Friends (TF)	3,75	\$19,92	\$74.70
1/21/2021	0.22 414	7.32 044	3:00 PM	11:01 PM	Wellington (JB)	4.25	\$19.92	\$84.66
1/21/2021	9:23 AM	7:23 PM	3:08 PM	10:37 PM	Barclay Friends (TF)		-	
1/22/2021	11:10 AM	0.00 014	8:00 AM	11:04 PM	Wellington (JB)	9.75	\$19.92	\$194.22
1/22/2021		9:09 PM	8:09 AM	11:09 PM	Barclay Friends (TF)		-	
1/25/2021	9:01 AM	9:01 PM	3:04 PM	11:02 PM	Wellington (JB)	5.75	\$19.92	\$114.54
1/26/2021	9:08 AM	7:08 PM	3:03 PM	11:06 PM	Wellington (JB)	4.00	\$19.92	\$79.68
1/26/2021	5:06 AlVi	7:06 FIVI	3:12 PM	9:56 PM	Barclay Friends (TF)			
1/17/2021	9:15 AM		3:03 PM	11:02 PM	Wellington (JB)	4.00	\$19.92	\$79.68
1/27/2021	5.15 AW	7:15 PM	3:11 PM	11:17 PM	Barclay Friends (TF)		-	
1/28/2021	0.01 AM	7:01 PM	3:05 PM	11:01 PM	Wellington (JB)	3.75	\$19.92	\$74.70
1/28/2021	9:01 AM	7.01 PIVI	3:14 PM	11:11 PM	Barclay Friends (TF)	<u> </u>	-	
1/20/2021	0:46 444	7:51 PM	3:26 PM	11:05 PM	Wellington (JB)	4.25	\$19.92	\$84.66
1/29/2021	9:46 AM	7.51 PW	3:36 PM	11:11 PM	Barclay Friends (TF)		-	
2/1/2021	9:29 AM	9:29 PM	3:57 PM	10:48 PM	Wellington (JB)	5.50	\$19.92	\$109.56
2/1/2021	5:29 AIVI	9.29 111	4:09 PM	10:26 PM	Barclay Friends (TF)		-	
2/2/2021	9:02 AM	7:04 PM	3:10 PM	11:09 PM	Wellington (JB)		-	
2/2/2021	5.02 AM	7.04 FW	7:04 AM	11:17 PM	Barclay Friends (TF)	10,00	\$19.92	\$199.20
2/3/2021	9:00 AM	7:00 PM	3:23 PM	11:00 PM	Barclay Friends (TF)	3.50	\$19.92	\$69.72
2/4/2021	9:12 AM	7:15 PM	3:09 PM	11:04 PM	Wellington (JB)	4.00	\$19.92	\$79.68
2/4/2021	J.12 AIVI	7.13 PIV	3:20 PM	11:08 PM	Barclay Friends (TF)			
2/5/2021	9:07 AM	7:07 PM	3:10 PM	11:03 PM	Wellington (JB)	3.75	\$19.92	\$74.70
2/3/2021	5.07 AW	7.07110	3:20 PM	11:06 PM	Barclay Friends (TF)		-	
2/6/2021	9:01 AM	10:01 PM	2:59 PM	6:59 AM	Wellington (JB)		-	
2/0/2021	J.UI AM	<u></u>	8:07 AM	10:57 PM	Barclay Friends (TF)	13.00	\$19.92	\$258.96
2/9/2021	9:14 AM	7:14 PM	1:47 PM	11:11 PM	Barclay Friends (TF)	5.25	\$19.92	\$104.58
2/10/2021	9:03 AM	7:06 PM	3:01 PM	11:05 PM	Wellington (JB)	4.00	\$19.92	\$79.68
2/10/2021	3.03 AM	7.00114	3:10 PM	10:57 PM	Barclay Friends (TF)		_	
2/11/2021	9:10 AM	7:10 PM	3:08 PM	11:03 PM	Wellington (JB)	4.00	\$19.92	\$79.68
2/11/2021	9.10 AW	7.10114	3:16 PM	11:11 PM	Barclay Friends (TF)		-	
2/12/2021	9:20 AM	7:22 PM	3:26 PM	11:00 PM	Wellington (JB)		-	
2/12/2021	3.20 AW	7.22 (19)	3:00 PM	11:00 PM	Barclay Friends (TF)	4.25	\$19.92	\$84.66
2/13/2021	9:13 AM	10:12 PM	9:47 PM	7:08 AM	Barclay Friends (TF)	0.25	\$19.92	\$4.98
2/15/2021	9:07 AM	9:06 PM	3:12 PM	11:03 PM	Wellington (JB)	5.75	\$19.92	\$114.54
2/13/2021	3.07 AM	3.00110	3:21 PM	11:07 PM	Barclay Friends (TF)		-	
2/16/2021	9:02 AM	7:02 PM	3:06 PM	11:04 PM	Wellington (JB)	3.75	\$19.92	\$74.70
2/16/2021		7.02 FIVI	3:15 PM	11:09 PM	Barclay Friends (TF)		-	
2/17/2021	9:00 AM	7:00 PM	3:11 PM	11:02 PM	Wellington (JB)	3.75	\$19.92	\$74.70
2/1//2021			3:21 PM	11:11 PM	Barclay Friends (TF)			
1/10/2021	11:20 444	7.20 014	3:16 PM	11:00 PM	Wellington (JB)	6.00	\$19.92	\$119.5
2/18/2021	11:20 AM	7:20 PM	3:24 PM	11:13 PM	Barclay Friends (TF)		-	
2 /10 /2021	0.00.111	7.00 014	3:08 PM	11:03 PM	Wellington (JB)	3.75	\$19.92	\$74.70
2/19/2021	9:00 AM	7:00 PM	3:17 PM	11:18 PM	Barclay Friends (TF)		-	

Silver Heart Outside Employment												
Date	Time In	Time Out	Time In	Time Out	Employer	Overlap	MCO Hourly	Total				
		4.0.00.01.0	3:06 PM	11:04 PM	Weilington (JB)	6.75	\$19.92	\$134.46				
2/20/2021	9:01 AM	10:03 PM	3:14 PM	11:12 PM	Barclay Friends (TF)		-					
2/22/2021	9:01 AM	9:01 PM	4:47 PM	11:04 PM	Weilington (JB)	4.00	\$19.92	\$79.68				
2/23/2021	9:00 AM	7:06 PM	5:18 PM	11:07 PM	Barclay Friends (TF)	1.75	\$19.92	\$34.86				
			4:29 PM	11:03 PM	Wellington (JB)		-					
2/24/2021	9:19 AM	7:20 PM	3:02 PM	11:11 PM	Barclay Friends (TF)	4.25	\$19.92	\$84.66				
- * !			3:19 PM	11:07 PM	Wellington (JB)	4.00	\$19.92	\$79.68				
2/25/2021	9:28 AM	7:26 PM	3:31 PM	11:06 PM	Barclay Friends (TF)		-					
			3:44 PM	11:04 PM	Wellington (JB)		- 1					
2/26/2021	9:02 AM	7:04 PM	3:00 PM	11:00 PM	Barclay Friends (TF)	4.00	\$19.92	\$79.68				
	<u>+</u>		3:42 PM	11:05 PM	Wellington (JB)	5.25	\$19.92	\$104.58				
3/1/2021	9:06 AM	9:06 PM	3:54 PM	11:02 PM	Barclay Friends (TF)		-	·				
	1		3:21 PM	11:05 PM	Wellington (JB)	3.50	\$19.92	\$69.72				
3/2/2021	9:01 AM	7:03 PM	3:32 PM	11:05 PM	Barclay Friends (TF)		-					
			3:10 PM	11:03 PM	Weilington (JB)	4.00	\$19.92	\$79.68				
3/3/2021	9:18 AM	7:18 PM	3:22 PM	11:05 PM	Barclay Friends (TF)	,		,				
	1		3:06 PM	7:02 AM	Wellington (JB)	3.75	\$19.92	\$74.70				
3/4/2021	9:00 AM	7:01 PM	3:31 PM	7:12 AM	Barclay Friends (TF)		-	.				
			3:20 PM	7:04 AM	Wellington (JB)	3.75	\$19.92	\$74.70				
3/5/2021	12:00 AM	7:05 PM	3:29 PM	7:06 AM	Barclay Friends (TF)		-	•••••				
			3:10 PM	11:02 PM	Wellington (JB)	7.75	\$19.92	\$154.3				
3/6/2021	10:08 AM	11:08 PM	3:40 PM	10:59 PM	Barclay Friends (TF)	,,,,,	-	410 110				
	+		3:28 PM	11:03 PM	Wellington (JB)	5.50	\$19.92	\$109.5				
3/8/2021	9:01 AM	9:00 PM	3:42 PM	11:07 PM	Barclay Friends (TF)		, , , , , , , , , , , , , , , , , , ,	¥-0-(-				
			3:04 PM	11:02 PM	Wellington (JB)	4.50	\$19.92	\$89.64				
3/9/2021	9:35 AM	7:36 PM	3:15 PM	11:02 PM	Barclay Friends (TF)		-	<i>Q</i> 0010				
			3:20 PM	11:10 PM	Wellington (JB)	3.75	\$19.92	\$74.70				
3/10/2021	9:02 AM	7:08 PM	3:31 PM	11:13 PM	Barclay Friends (TF)	3.75	-	<i>\$7.170</i>				
	<u> </u>		3:05 PM	11:04 PM	Wellington (JB)	4.75	\$19.92	\$94.62				
3/11/2021	9:52 AM	7:52 PM	3:17 PM	11:06 PM	Barciay Friends (TF)		, , , , , , , , , , , , , , , , , , ,	45 1102				
			3:11 PM	11:03 PM	Wellington (JB)	4.00	\$19.92	\$79.68				
3/12/2021	9:14 AM	7:14 PM	3:23 PM	11:07 PM	Barclay Friends (TF)	4.00		<i></i>				
	+		2:55 PM	11:01 PM	Wellington (JB)	6.00	\$19.92	\$119.5				
3/15/2021	9:04 AM	9:09 PM	2:55 PM	11:15 PM	Barclay Friends (TF)	0.00		، اف و این شد بند مې				
	+	+	3:03 PM	11:04 PM	Wellington (JB)	3.75	\$19.92	\$74.70				
3/16/2021	9:00 AM	7:01 PM	3:35 PM	11:04 PM	Barclay Friends (TF)	3.75		ų rairo				
			3:49 PM	11:03 PM	Wellington (JB)	3.00	\$19.92	\$59.76				
3/17/2021	9:00 AM	7:00 PM	3:59 PM	11:09 PM	Barclay Friends (TF)	0.00	Q10.02					
		·	3:12 PM	11:04 PM	Wellington (JB)	4.25	\$19.92	\$84.66				
3/18/2021	9:38 AM	7:38 PM	3:22 PM	11:05 PM	Barclay Friends (TF)	7.4.5	913. <u>52</u>	904/00				
			5:20 PM	7:03 AM	Weilington (JB)	+						
3/20/2021	9:00 AM	10:04 PM		7:00 AM	Barclay Friends (TF)	7.00	\$19.92	\$139.4				
			3:00 PM 3:39 PM	11:03 PM	Wellington (JB)	5.25	\$19.92	\$104.5				
3/22/2021	8:59 AM	8:59 PM	1			3.23	,52,52	2T04'34				
			3:55 PM	11:05 PM	Barclay Friends (TF)		·}					
3/25/2021	9:00 AM	7:03 PM	3:46 PM	11:01 PM	Wellington (JB)	2.25	- 610.00	661 74				
			3:36 PM	7:27 AM	Barclay Friends (TF)	3.25	\$19.92	\$64.74				
3/26/2021	9:02 AM	7:01 PM	4:29 PM 4:41 PM	11:07 PM 11:04 PM	Wellington (JB) Barclay Friends (TF)	2.50	\$19.92	\$49.80				

	Silver	Heart	Outside Em	plovment i				
Date	Time In	Time Out	Time In	Time Out	Employer	Overlap	MCO Hourly	Total
			3:14 PM	11:02 PM	Wellington (JB)	5.75	\$19.92	\$114.54
3/29/2021	8:59 AM	9:01 PM	3:23 PM	11:14 PM	Barclay Friends (TF)			
	1		3:12 PM	11:04 PM	Wellington (JB)	3.75	\$19.92	\$74.70
3/30/2021	9:00 AM	7:00 PM	3:23 PM	11:12 PM	Barclay Friends (TF)		<i>\</i>	<i>•••</i>
			3:14 PM	10:40 PM	Wellington (JB)	3.75	\$19.92	\$74.70
3/31/2021	9:01 AM	7:01 PM	3:24 PM	11:00 PM	Barclay Friends (TF)		-	•••••
			3:07 PM	7:05 AM	Wellington (JB)	3.75	\$19.92	\$74.70
4/1/2021	9:00 AM	7:03 PM	3:18 PM	7:05 AM	Barclay Friends (TF)		-	
			3:22 PM	11:02 PM	Wellington (JB)	3.50	\$19.92	\$69.72
4/2/2021	8:59 AM	7:00 PM	3:33 PM	11:23 PM	Barclay Friends (TF)		-	+
			2:54 PM	11:00 PM	Wellington (JB)			
4/3/2021	9:22 AM	10:22 PM	8:13 AM	11:01 PM	Barclay Friends (TF)	13.00	\$19.92	\$258.96
4/5/2021	9:52 AM	9:58 PM	4:40 PM	11:02 PM	Wellington (JB)	5.25	\$19.92	\$104.58
			2:56 PM	11:00 PM	Wellington (JB)	4.00	\$19.92	\$79.68
4/6/2021	9:02 AM	7:01 PM	3:00 PM	11:35 PM	Barclay Friends (TF)		-	+
			3:00 PM	11:00 PM	Wellington (JB)	4.00	\$19.92	\$79.68
4/7/2021	9:04 AM	7:03 PM	3:10 PM	11:04 PM	Barclay Friends (TF)		-	<i></i>
			2:57 PM	11:02 PM	Wellington (JB)	4.00	\$19.92	\$79.68
4/8/2021	8:59 AM	6:59 PM	3:05 PM	11:08 PM	Barclay Friends (TF)	1.00	<i>413.32</i>	410.00
<u></u>		}	3:28 PM	11:01 PM	Wellington (JB)	}	-	
4/9/2021	9:03 AM	7:03 PM	3:00 PM	11:05 PM	Barclay Friends (TF)	4.00	\$19.92	\$79.68
			3:17 PM	11:04 PM	Wellington (JB)	5.75	\$19.92	\$114.5
4/12/2021	9:13 AM	9:13 PM	3:27 PM	11:07 PM	Barclay Friends (TF)	5.75	- JIJ.J%	Υ Τ Τ-110-
4/13/2021	9:16 AM	7:16 PM	5:14 PM	11:03 PM	Wellington (JB)	2.00	\$19.92	\$39.84
4/13/2021	<u> </u>	7.40114	3:48 PM	11:01 PM	Wellington (JB)	3.50	\$19.92	\$69.72
4/14/2021	9:26 AM	7:25 PM	3:59 PM	11:08 PM	Barclay Friends (TF)	0.00	-	<i>φ</i> 05(74
			3:00 PM	11:01 PM	Wellington (JB)			
4/15/2021	9:25 AM	7:25 PM	2:55 PM	11:06 PM	Barclay Friends (TF)	4.50	\$19.92	\$89.64
			3:34 PM	10:54 PM	Wellington (JB)	3.75	\$19.92	\$74.70
4/16/2021	9:23 AM	7:23 PM	3:47 PM	10:47 PM	Barclay Friends (TF)		, , , , , , , , , , , , , , , , , , ,	<i>\</i> ,,,,,,
	+		7:13 AM	11:02 PM	Wellington (JB)	13.00	\$19.92	\$258.9
4/17/2021	9:05 AM	10:05 PM	7:40 AM	11:00 PM	Barclay Friends (TF)	10.00	<i>Q13</i> ,52	425615
4/19/2021	9:21 AM	9:21 PM	3:16 PM	10:58 PM	Wellington (JB)	6.00	\$19.92	\$119.5
		J (2, 2 144	3:26 PM	11:04 PM	Wellington (JB)	3.50	\$19.92	\$69.72
4/20/2021	9:00 AM	7:01 PM	3:41 PM	11:04 PM	Barclay Friends (TF)		-	400174
	1	+	4:03 PM	11:02 PM	Wellington (JB)			
4/30/2021	10:36 AM	4:36 PM	3:00 PM	10:46 PM	Barclay Friends (TF)	1.50	\$19.92	\$29.88
			3:11 PM	11:03 PM	Wellington (JB)	4.00	\$19.92	\$79.68
5/1/2021	9:19 AM	7:19 PM	3:26 PM	11:07 PM	Barclay Friends (TF)		, , , , , , , , , , , , , , , , , , ,	+
	1	1	3:16 PM	11:02 PM	Wellington (JB)	0.50	\$19.92	\$9.96
5/3/2021	9:52 AM	3:58 PM	3:31 PM	11:02 PM	Barclay Friends (TF)		-	40.00
	-		3:57 PM	11:01 PM	Wellington (JB)	1.50	\$19.92	\$29.88
5/4/2021	11:39 AM	5:39 PM	4:11 PM	11:01 PM	Barclay Friends (TF)	1,00	φ±3.3%	<i>423.00</i>
5/5/2021	9:44 AM	3:44 PM	3:15 PM	11:00 PM	Weilington (JB)	0.25	\$19.92	\$4.98
5/11/2021	9:52 AM	3:52 PM	3:05 PM	11:08 PM	Wellington (JB)	0.75	\$19.92	\$14.94
5/11/2021	9:32 AM 9:22 AM	3:22 PM	3:00 PM	11:08 PM	Wellington (JB)	0.25	\$19.92	\$4.98
J/ 14/ 2021		3.44 F1VI	7:59 AM	11:03 PM	Wellington (JB)	10.00	\$19.92	\$199.2
5/15/2021	9:00 AM	7:02 PM	8:07 AM	10:50 PM	Barclay Friends (TF)	10.00	22.26	، <i>دو</i> يو

	Silver	Heart	Outside Err	ployment						
Date	Time In	Time Out	Time In	Time Out	Employer	Overlap	MCO Hourly	Total		
	0.21 414	7.04 084	7:02 AM	11:03 PM	Wellington (JB)	10.00	\$19.92	\$199.20		
5/29/2021	9:31 AM	7:31 PM	3:01 PM	10:56 PM	Barclay Friends (TF)		-			
5/31/2021	9:22 AM	3:22 PM	3:02 PM	10:43 PM	Wellington (JB)	0.25	\$19.92	\$4.98		
6/3/2021	9:04 AM	3:03 PM	7:52 AM	11:00 PM	Barclay Friends (TF)	5.75	\$19.92	\$114.54		
6/10/2021	9:46 AM	3:46 PM	8:10 AM	11:04 PM	Wellington (JB)	6.00	\$19.92	\$119.52		
		0.10.01.1	4:10 PM	11:01 PM	Wellington (JB)		~			
6/12/2021	11:49 AM	9:49 PM	9:38 AM	10:33 PM	Barclay Friends (TF)	10.00	\$19.92	\$199.20		
6/14/2021	9:27 AM	3:27 PM	3:01 PM	10:54 PM	Wellington (JB)	0.25	\$19.92	\$4.98		
c la c la casa	10.00	4.00 514	3:13 PM	11:01 PM	Wellington (JB)	0.75	\$19.92	\$14.94		
6/16/2021	10:00 AM	4:00 PM	3:24 PM	11:03 PM	Barclay Friends (TF)		-			
6/17/2021	9:37 AM	3:57 PM	3:17 PM	11:01 PM	Wellington (JB)	0.25	\$19.92	\$4.98		
c /22 /2221	10:12 414	4.10 DA4	2:58 PM	11:06 PM	Wellington (JB)	1.25	\$19.92	\$24.90		
6/22/2021	10:13 AM	4:13 PM	3:24 PM	10:34 PM	Barclay Friends (TF)		-			
c /2 4 /2 024	0.22 444	3.00.044	2:58 PM	11:01 PM	Wellington (JB)	0.25	\$19.92	\$4.98		
6/24/2021	9:22 AM	3:22 PM	3:07 PM	10:57 PM	Barclay Friends (TF)		<u> </u>			
- lac lacad	40.30 114	0.04 044	2:54 PM	11:02 PM	Wellington (JB)	5.25	\$19.92	\$104.58		
6/26/2021	10:20 AM	8:21 PM	3:23 PM	10:05 PM	Barclay Friends (TF)		-			
6/28/2021	9:17 AM	3:17 PM	2:53 PM	10:24 PM	Wellington (JB)	0.25	\$19.92	\$4.98		
c /20 /2024	/2024 0.11 444	0.11.454	9-11 AM	2 44 514	7:56 AM	11:00 PM	Wellington (JB)	6.00	\$19.92	\$119.52
6/30/2021	9:11 AM	3:11 PM	8:09 AM	10:59 PM	Barclay Friends (TF)		-			
7/6/2021	7/6/2021 9:49 AM	2.40 004	3:00 PM	11:02 PM	Wellington (JB)	0.75	\$19.92	\$14.94		
//6/2021		3:49 PM	3:10 PM	11:02 PM	Barclay Friends (TF)		-			
7/10/2021	0.01 414	9:01 AM	7.02.014	3:06 PM	11:02 PM	Wellington (JB)		-		
7/10/2021	9:01 AM	7:02 PM	9:45 AM	11:03 PM	Barclay Friends (TF)	9 .25	\$19.92	\$184.20		
7/12/2021	9:51 AM	3:51 PM	3:16 PM	11:02 PM	Wellington (JB)	0.50	\$19.92	\$9.96		
7/15/2021	8:58 AM	2.59 014	9:28 AM	11:02 PM	Wellington (JB)	5.50	\$19.92	\$109.50		
7/15/2021	0.30 AlVI	2:58 PM	9:41 AM	11:02 PM	Barclay Friends (TF)		-			
7/20/2021	10:08 AM	4:10 PM	3:05 PM	11:05 PM	Wellington (JB)	1.00	\$19.92	\$19.92		
7/24/2021	9:03 AM	7:10 PM	2:57 PM	11:03 PM	Wellington (JB)		-			
//24/2021	3.03 AW	7.10 FW	7:58 AM	10:55 PM	Barclay Friends (TF)	10.00	\$19.92	\$199.2		
7/29/2021	11:25 AM	11.75 444	11.75 AM	5:28 PM	3:12 PM	11:01 PM	Wellington (JB)	2.25	\$19.92	\$44.82
//23/2021	11.25 AM	9.201141	3:27 PM	11:06 PM	Barclay Friends (TF)		-	***		
7/30/2021	9:38 AM	3:36 PM	3:05 PM	11:01 PM	Wellington (JB)	0.50	\$19.92	\$9.96		
.,			3:16 PM	11:01 PM	Barclay Friends (TF)	ļ	-			
8/2/2021	11:15 AM	5:15 PM	3:21 PM	11:03 PM	Wellington (JB)	1.75	\$19.92	\$34.86		
			3:34 PM	11:04 PM	Barclay Friends (TF)		-			
8/5/2021	12:01 PM	6:00 PM	3:09 PM	11:01 PM	Wellington (JB)	2.75	\$19.92	\$54.78		
-, -,			3:30 PM	11:03 PM	Barclay Friends (TF)			<u> </u>		
8/6/2021	10:59 AM	5:02 PM	3:06 PM	11:00 PM	Wellington (JB)	1.75	\$19.92	\$34.86		
, -,		<u></u>	3:18 PM	11:06 PM	Barclay Friends (TF)		-	A		
8/7/2021	10:38 AM	8:38 PM	3:17 PM	11:04 PM	Wellington (JB)	5,25	\$19.92	\$104.5		
_, . ,			3:26 PM	11:05 PM	Barclay Friends (TF)		<u> </u>	.		
8/9/2021	9:22 AM	4:22 PM	3:03 PM	11:03 PM	Wellington (JB)	1.25	\$19.92	\$24.90		
			3:23 PM	11:02 PM	Barclay Friends (TF)					
8/11/2021	9:51 AM	3:51 PM	2:59 PM	11:01 PM	Wellington (JB)	_	-			
-, -,			2:57 PM	10:58 PM	Barclay Friends (TF)	0.75	\$19.92	\$14.94		
	1	1	3:06 PM	11:00 PM	Wellington (JB)	1.50	\$19.92	\$29.88		

	Silver	Heart	Outside Err	ployment				
Date	Time In	Time Out	Time In	Time Out	Employer	Overlap	MCO Hourly	Total
9/17/2021	11.53 444	E-ED DM	2:57 PM	11:06 PM	Wellington (JB)	2.75	\$19.92	\$54.78
8/17/2021	11:52 AM	5:52 PM	3:49 PM	11:02 PM	Barclay Friends (TF)		-	
8/10/2021	0.11 444	2.14 014	2:55 PM	11:03 PM	Wellington (JB)	0.25	\$19.92	\$4.98
8/19/2021	9:11 AM	3:14 PM	2:55 PM	11:03 PM	Barclay Friends (TF)		-	
8/21/2021	9:03 AM	7:03 PM	8:30 AM	11:05 PM	Wellington (JB)	10.00	\$19.92	\$199.20
8/23/2021	10:05 AM	4:05 PM	3:00 PM	11:08 PM	Wellington (JB)	1,00	\$19.92	\$19.92
8/25/2021	10:34 AM	4:41 PM	3:35 PM	9:58 PM	Wellington (JB)	1.00	\$19.92	\$19.92
8/26/2021	9:42 AM	3:47 PM	3:04 PM	11:00 PM	Wellington (JB)	0,50	\$19.92	\$9.96
8/27/2021	9:54 AM	3:52 PM	3:26 PM	11:02 PM	Wellington (JB)	0.25	\$19.92	\$4.98
	44.00.001	5 33 344	2:55 PM	11:05 PM	Wellington (JB)	2.50	\$19.92	\$49.80
9/2/2021	11:33 AM	5:33 PM	2:59 PM	11:02 PM	Barclay Friends (TF)		-	
			2:58 PM	11:05 PM	Weilington (JB)	0.25	\$19.92	\$4.98
9/3/2021	9:14 AM	3:14 PM	2:58 PM	11:07 PM	Barclay Friends (TF)		-	
			2:50 PM	11:01 PM	Wellington (JB)		-	
9/4/2021	9:09 AM	7:13 PM	10:26 AM	11:09 PM	Barclay Friends (TF)	8.75	\$19.92	\$174,30
			3:08 PM	11:07 PM	Wellington (JB)	1.50	\$19.92	\$29.88
9/6/2021	10:35 AM	4:45 PM	3:18 PM	11:17 PM	Barclay Friends (TF)		· -	
·······			2:55 PM	11:04 PM	Wellington (JB)	0.75	\$19.92	\$14.94
9/8/2021	9:37 AM	3:42 PM	3:05 PM	10:56 PM	Barclay Friends (TF)		,	,
9/10/2021	10:30 AM	4:46 PM	3:42 PM	11:10 PM	Wellington (JB)	1.00	\$19.92	\$19.92
0/10/2022			2:02 PM	11:08 PM	Wellington (JB)	1.00	\$19.92	\$19.92
9/13/2021	021 9:06 AM	3:06 PM	2:53 PM	11:08 PM	Barclay Friends (TF)			,
9/14/2021	10:21 AM	4:21 PM	2:39 PM	11:00 PM	Wellington (JB)	1.50	\$19.92	\$29.88
51 1-17 2021		1.211.00	2:53 PM	11:03 PM	Wellington (JB)	0.25	\$19.92	\$4.98
9/16/2021	9:13 AM	3:15 PM	3:00 PM	10:56 PM	Barclay Friends (TF)	0.25		1
		<u> </u>	3:22 PM	11:11 PM	Wellington (JB)	4.25	\$19.92	\$84.66
9/18/2021	9:45 AM	7:45 PM	3:33 PM	11:02 PM	Barclay Friends (TF)			, - ···
			3:09 PM	11:03 PM	Wellington (JB)	0.25	\$19.92	\$4.98
9/20/2021	9:37 AM	3:36 PM	3:21 PM	11:04 PM	Barclay Friends (TF)	0.2.5	-	<i>•</i> 1.55
		······	3:01 PM	10:55 PM	Wellington (JB)	0.25	\$19.92	\$4.98
9/22/2021	9:23 AM	3:30 PM	3:12 PM	10:35 PM	Barclay Friends (TF)	0.25		ý 1.50
		<u> </u>	8:01 AM	11:03 PM	Wellington (JB)	6.00	\$19.92	\$119.5
9/23/2021	9:06 AM	3:10 PM	8:12 AM	10:58 PM	Barclay Friends (TF)	0,00		¥113,3.
		<u> </u>	3:03 PM	7:02 AM	Wellington (JB)	0.75	\$19.92	\$14.94
9/24/2021	9:51 AM	3:57 PM	3:14 PM	6:48 AM	Barclay Friends (TF)	0.75		φ1-1.0-
Markenne -			3:00 PM	11:01 PM	Wellington (JB)	1.25	\$19.92	\$24.90
9/27/2021	10:06 AM	4:23 PM	3:11 PM	11:01 PM	Barclay Friends (TF)	1.25	,JLJ,J2	φ≈-11.2%
9/28/2021	9:16 AM	2.10 04	2:56 PM	7:06 AM	Wellington (JB)	0.25	\$19.92	\$4.98
5/28/2021	3:TO WIN	3:18 PM		11:05 PM	Wellington (JB)	0.25	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	00.74
9/30/2021	9:24 AM	3:27 PM	3:00 PM 2:59 PM	10:58 PM	Barclay Friends (TF)	0.25	\$19.92	\$4.98
		<u> </u>		10:58 PM 11:02 PM	Wellington (JB)	0.25	\$19.92	\$4.98
10/1/2021	9:23 AM	3:34 PM	3:08 PM			0.23	25,54	44.30
10/0/2024	0.75 444	2,20 04	3:19 PM	11:02 PM	Barclay Friends (TF)		\$10.07	\$9.96
10/6/2021	9:26 AM	3:26 PM	2:54 PM	11:04 PM	Wellington (JB)	0.50	\$19.92	
10/7/2021	9:38 AM	3:38 PM	2:51 PM	11:05 PM	Wellington (JB)	0.75	\$19.92	\$14.94
40 10 10 20 1		1	3:06 PM	10:59 PM	Barclay Friends (TF)		-	6400 F
10/8/2021	9:00 AM	3:03 PM	9:28 AM	10:59 PM	Barclay Friends (TF) Wellington (JB)	5.50	\$19.92 \$19.92	\$109.5 \$99.60

	Silver	Heart	Outside Err	ployment				
Date	Time In	Time Out	Time In	Time Out	Employer	Overlap	MCO Houriy	Total
	1.006.00		2:58 PM	11:00 PM	Wellington (JB)	0.75	\$19.92	\$14.94
10/11/2021	9:52 AM	3:52 PM	3:11 PM	10:56 PM	Barclay Friends (TF)	0.75	-	<i>4</i> = 115 1
10/12/2021	9:07 AM	3:09 PM	2:50 PM	10:00 PM	Wellington (JB)	0.25	\$19.92	\$4.98
10/12/2021	J.07 AM	3.021101	2:53 PM	11:00 PM	Wellington (JB)	1.00	\$19.92	\$19.92
10/13/2021	10:04 AM	4:04 PM	3:01 PM	11:00 PM	Barclay Friends (TF)	1.00	-	¥19.32
			2:55 PM	11:03 PM	Wellington (JB)	······		
10/16/2021	9:33 AM	7:33 PM	8:02 AM	11:02 PM	Barclay Friends (TF)	10.00	\$19.92	\$199.20
	<u> </u>	· · · ·	2:53 PM	11:02 PM	Wellington (JB)	2,25	\$19.92	\$44.82
10/18/2021	11:08 AM	5:08 PM	3:05 PM	10:54 PM	Barclay Friends (TF)	2,23	-	¥ 14102
			2:55 PM	10:04 PM	Wellington (JB)	1.75	\$19.92	\$34.86
10/21/2021	10:54 AM	4:54 PM	3:07 PM	10:57 PM	Barclay Friends (TF)	1.75	940102	7 04.00
10/22/2021	9:18 AM	3:21 PM	3:05 PM	11:04 PM	Wellington (JB)	0.25	\$19.92	\$4.98
10/22/2021	3.10 AW	3,21 F IVI	3:22 PM	11:00 PM	Wellington (JB)	0.25	, <u>, , , , , , , , , , , , , , , , , , </u>	
10/28/2021	10:44 AM	4:50 PM	3:22 PM 3:06 PM	11:11 PM	Barclay Friends (TF)	1.50	\$19.92	\$29.88
			3:08 PM	11:11 PM 11:03 PM	Wellington (JB)	0.50	\$19.92	\$9.96
10/29/2021	9:42 AM	3:44 PM	3:13 PM	10:59 PM	Barclay Friends (TF)	0.00		40.00
			2:53 PM	11:05 PM	Wellington (JB)			
10/30/2021	9:10 AM	7:10 PM	8:05 AM	11:05 PW	Barclay Friends (TF)	10.00	\$19.92	\$199.20
	021 10:57 AM		3:14 PM	11:00 PM	Wellington (JB)	1.50	\$19.92	\$29.88
11/1/2021		4:57 PM	4:08 PM	11:00 PM	Barclay Friends (TF)	1.50	715.52	925.88
			2:59 PM	11:02 PM	Wellington (JB)	0.75	\$19.92	\$14.94
11/3/2021	9:52 AM	3:52 PM	2:59 PM	11:33 PM	Barclay Friends (TF)	0.75	- -	917.3 7
11/4/2021	0,50 AM	4:04 PM	3:03 PM	11:03 PM	Wellington (JB)	1.00	\$19.92	\$19.92
11/4/2021	9:59 AM	4.04 111	3:02 PM	11:03 PM	Wellington (JB)	1.00	\$19.92	\$19.92
11/5/2021	10:15 AM	4:16 PM	3:13 PM	11:02 PW	Barclay Friends (TF)	1.00	\$15.52	213.32
11/6/2021	9:03 AM	7:03 PM	2:58 PM	11:03 PM	Wellington (JB)	4.00	\$19.92	\$79.68
11/0/2021	3.03 AIVI	7.03 FIVI	3:05 PM	11:02 PM	Wellington (JB)	0.50	\$19.92	\$9.96
11/10/2021	9:40 AM	3:46 PM	3:17 PM	11:04 PM	Barclay Friends (TF)	0.50	Ş13.52	49.90
11/11/2021	1:27 PM	7:30 PM	2:48 PM	11:03 PM	Wellington (JB)	4.50	\$19.92	\$89.64
11/11/2021	1:27 PIVI		2:46 PIVI 8:00 AM	11:05 PM	Wellington (JB)	10.00	\$19.92	\$199.20
11/13/2021	9:10 AM	7:10 PM	3:07 PM	11:05 PM	Barclay Friends (TF)	10.00	\$19,92 -	4732.20
		<u> </u>	3:11 PM	11:05 PM	Wellington (JB)	5.00	\$19.92	\$99.60
11/15/2021	2:23 PM	8:23 PM	4:06 PM	10:57 PM	Barclay Friends (TF)	00,00	~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~	443.UV
· ····	1	-	3:09 PM	10:57 PM	Wellington (JB)	0.25	\$19.92	\$4.98
11/18/2021	9:31 AM	3:38 PM	3:10 PM	11:07 PM	Barclay Friends (TF)	0.2.0		₽ 7.30
11/19/2021	9:40 AM	3:46 PM	3:04 PM	11:04 PM	Wellington (JB)	0.50	\$19.92	\$9.96
11/22/2021	10:34 AM	4:34 PM	2:58 PM	11:02 PM	Wellington (JB)	1.50	\$19.92	\$29.88
11/22/2021	10.34 AM	4.54110	3:04 PM	11:02 PM	Wellington (JB)	0.50	\$19.92	\$9.96
11/23/2021	9:32 AM	3:34 PM	3:17 PM	11:03 PM	Barclay Friends (TF)	0.50	<i>413.32</i>	40.00
	1		2:55 PM	11:06 PM	Wellington (JB)			
11/27/2021	9:04 AM	7:04 PM	9:22 AM	10:55 PM	Barclay Friends (TF)	9.50	\$19.92	\$189.24
12/2/2021	9:23 AM	3:23 PM	3:04 PM	11:01 PM	Wellington (JB)	0.25	\$19.92	\$4.98
		3:19 PM	3:04 PIVI 3:03 PM	11:01 PM	Wellington (JB)	0.25	\$19.92	<u>\$4.98</u>
12/3/2021	9:16 AM	3.13 FIVI		+	Wellington (JB)	0.25	\$19.92	\$14.94
12/9/2021	9:58 AM	3:58 PM	3:00 PM	11:03 PM	Barclay Friends (TF)	0.75		474°24
12/10/2024	0.10 414	2.22.014	3:10 PM	10:55 PM 11:07 PM	Barclay Friends (TF) Barclay Friends (TF)	6.00	\$19.92	\$119.52
12/10/2021	9:19 AM	3:22 PM	7:00 AM		Wellington (JB)	10.00	\$19.92	\$199.20
12/11/2021	9:00 AM	7:00 PM	6:58 AM 7:07 AM	11:03 PM 11:06 PM	Barclay Friends (TF)	10,00	313.32	9133.2U

	Silver		Outside Em	1	Outside Employment Ov				
Date	Time In	Time Out	Time In	Time Out	Employer	Overlap	MCO Hourly	Total	
12/15/2021	9:27 AM	4:06 PM	3:00 PM	11:01 PM	Wellington (JB)	1.00	\$19.92	\$19.92	
12/13/2021	J.27 AIVI	4.001101	3:10 PM	11:10 PM	Wellington (JB)	0.50	\$19.92	\$9.96	
12/16/2021	9:42 AM	3:43 PM	3:22 PM	11:05 PM	Barclay Friends (TF)	0.00	-	¥ - ·	
			2:56 PM	11:06 PM	Wellington (JB)	0.50	\$19.92	\$9.96	
12/20/2021	9:28 AM	3:28 PM	3:07 PM	11:02 PM	Barclay Friends (TF)	0.50		<i>40.00</i>	
			3:07 PM	11:02 PM	Wellington (JB)	0.50	\$19.92	\$9.96	
12/22/2021	9:37 AM	3:37 PM	3:17 PM	11:01 PM	Barclay Friends (TF)	0.50	, , , , , , , , , , , , , , , , , , ,	40100	
12/23/2021	9:33 AM	3:33 PM	3:07 PM	11:07 PM	Wellington (JB)	0.25	\$19,92	\$4.98	
12/23/2021	9,35 AIVI	3.33 F M	2:59 PM	11:02 PM	Wellington (JB)	1.25	\$19.92	\$24.90	
12/24/2021	10:13 AM	4:18 PM	3:08 PM	11:10 PM	Barclay Friends (TF)	1.23		φ <u>2</u> 1.50	
				7:02 AM	Wellington (JB)	4.00	\$19.92	\$79.68	
12/25/2021	9:04 AM	7:02 PM	2:56 PM	7:02 AM 7:00 AM	Barclay Friends (TF)	4.00	\$13.32	\$75.00	
			3:08 PM	10:54 PM	Wellington (JB)	1.00	\$19.92	\$19.92	
12/30/2021	10:10 AM	4:10 PM	3:00 PM		-	1.00	\$19.32	¥1.7.2	
			3:18 PM	11:00 PM	Barclay Friends (TF)	1 50	¢10.02	\$29.88	
12/31/2021	10:39 AM	4:40 PM	2:59 PM	11:05 PM	Wellington (JB)	1.50	\$19.92	22,60	
1 /2 /2 22 2		2 42 544	3:00 PM	11:11 PM	Barclay Friends (TF)	0.50	- 631 53	\$10.76	
1/3/2022	9:42 AM	3:42 PM	3:04 PM	3:41 PM	Wellington (JB)	0.50	\$21.52	\$80.70	
1/8/2022	9:02 AM	7:05 PM	3:08 PM	10:03 PM	Barclay Friends (TF)	3,75	\$21.52	· · · · · · · · · · · · · · · · · · ·	
1/13/2022	13/2022 1:02 PM	7:02 PM	3:06 PM	11:01 PM	Wellington (JB)	3.75	\$21.52	\$80.70	
			3:51 PM	11:07 PM	Barclay Friends (TF)		-		
1/14/2022	9:33 AM	3:34 PM	2:48 PM	11:03 PM	Wellington (JB)		-	6420 A	
			7:24 AM	11:01 PM	Barclay Friends (TF)	6.00	\$21.52	\$129.1	
1/17/2022	9:24 AM	9:24 AM	3:24 PM	2:56 PM	11:07 PM	Wellington (JB)	0.25	\$21.52	\$5.38
			3:03 PM	11:05 PM	Barclay Friends (TF)		-		
1/18/2022	9:16 AM	3:16 PM	2:58 PM	11:06 PM	Wellington (JB)	0.25	\$21.52	\$5.38	
1/20/2022	9:51 AM	3:51 PM	3:00 PM	7:04 AM	Wellington (JB)	0.75	\$21.52	\$16.14	
1/22/2022	9:03 AM	7:04 PM	2:58 PM	11:09 PM	Wellington (JB)	4.00	\$21.52	\$86.08	
1/26/2022	11:05 AM	5:10 PM	3:01 PM	11:08 PM	Wellington (JB)	2.00	\$21.52	\$43.04	
1,20,2022	11.00 / 111	5120110	3:28 PM	10:50 PM	Barclay Friends (TF)		-		
1/27/2022	10:32 AM	4:36 PM	2:57 PM	11:07 PM	Wellington (JB)	1.50	\$21.52	\$32.28	
1/2//2022	10,52 AM	4.50 114	3:15 PM	11:09 PM	Barclay Friends (TF)		-		
2/2/2022	10:02 AM	4:02 PM	2:51 PM	11:07 PM	Wellington (JB)	1.00	\$21.52	\$21.52	
2/2/2022	T0.02 AIVI		2:59 PM	11:05 PM	Barclay Friends (TF)	L			
3/5/2022	9:46 AM	7:46 PM	2:53 PM	11:07 PM	Wellington (JB)	4.75	\$21.52	\$102.2	
2/5/2022	5,40 AIVI		3:04 PM	11:00 PM	Barclay Friends (TF)		-		
2/10/2022	9:01 AM	3:06 PM	2:50 PM	11:10 PM	Wellington (JB)	0.25	\$21.52	\$5.38	
2/14/2022	9:14 AM	3:14 PM	2:59 PM	11:02 PM	Wellington (JB)	0.25	\$21.52	\$5.38	
2/15/2022	10:24 AM	4:27 PM	3:13 PM	11:08 PM	Wellington (JB)	1.00	\$21.52	\$21.52	
2/17/2022	9:23 AM	3:25 PM	2:56 PM	11:04 PM	Wellington (JB)	0.25	\$21.52	\$5.38	
2/18/2022	9:17 AM	3:17 PM	2:56 PM	11:00 PM	Wellington (JB)	0.25	\$21.52	\$5.38	
2/19/2022	9:36 AM	7:37 PM	3:03 PM	7:09 AM	Wellington (JB)	4.50	\$21.52	\$96.84	
2/23/2022	9:48 AM	4:16 PM	2:49 PM	11:02 PM	Wellington (JB)	1,25	\$21.52	\$26.90	
2/24/2022	9:11 AM	3:52 PM	2:43 PM	11:08 PM	Wellington (JB)	1.00	\$21.52	\$21.52	
2/25/2022	9:22 AM	3:39 PM	2:35 PM	11:03 PM	Wellington (JB)	1.00	\$21.52	\$21.5	
3/1/2022	10:09 AM	4:12 PM	2:39 PM	11:04 PM	Wellington (JB)	1.50	\$21.52	\$32.28	
3/3/2022	10:31 AM	4:31 PM	2:58 PM	11:02 PM	Wellington (JB)	1.50	\$21.52	\$32.28	
			3:06 PM	11:07 PM	Wellington (JB)	1	~		
3/4/2022	9:46 AM	3:46 PM	8:00 AM	4:00 PM	Terrace CH (TF)	6.00	\$21.52	\$129.1	

ſ

				1	Outside Employment O	venap		
	Silver		Outside Em	ployment			· · · · · · · · · · · · · · · · · · ·	
Date	Time In	Time Out	Time In	Time Out	Employer	Overlap	MCO Hourly	Total
3/9/2022	10:37 AM	4:37 PM	3:00 PM	11:00 PM	Terrace CH (TF)	1.50	\$21.52	\$32.28
3/10/2022	10:01 AM	4:01 PM	3:00 PM	11:00 PM	Terrace CH (TF)	1.00	\$21.52	\$21.52
3/12/2022	9:02 AM	7:02 PM	3:10 PM	7:00 AM	Terrace CH (TF)	3.75	\$21.52	\$80.70
3/14/2022	9:42 AM	3:42 PM	3:00 PM	11:00 PM	Terrace CH (TF)	0.50	\$21.52	\$10.76
3/19/2022	9:07 AM	7:13 PM	6:56 AM	11:06 PM	Terrace CH (TF)	10.00	\$21.52	\$215.2
4/2/2022	9:16 AM	7:16 PM	6:53 AM	4:28 PM	Terrace CH (TF)	7.00	\$21.52	\$150.64
4/8/2022	9:02 AM	3:00 PM	7:02 AM	11:12 PM	Terrace CH (TF)	5.75	\$21.52	\$123.7
4/9/2022	9:00 AM	7:04 PM	7:00 AM	3:13 PM	Terrace CH (TF)	6.00	\$21.52	\$129.1
4/44/2022	0.24 484	2.24 004	8:15 AM	2:30 PM	Terrace CH (JB)	4.75	\$21.52	\$102.2
4/14/2022	9:34 AM	3:34 PM	2:52 PM	11:19 PM	Terrace CH (TF)		-	
A /4 C /2022	0.05 414		7:00 AM	11:00 PM	Terrace CH (JB)	10.00	\$21.52	\$215.2
4/16/2022	9:05 AM	7:05 PM	7:04 AM	11:11 PM	Terrace CH (TF)		-	
4/21/2022	9:08 AM	3:08 PM	7:07 AM	11:10 PM	Terrace CH (TF)	6.00	\$21.52	\$129.1
4/22/2022	9:01 AM	3:01 PM	7:23 AM	11:13 PM	Terrace CH (TF)	6.00	\$21.52	\$129.1
			7:15 AM	3:11 PM	Terrace CH (JB)	10.00	\$21.52	\$215.2
4/23/2022	9:07 AM	7:07 PM	11:06 AM	3:15 PM	Terrace CH (TF)		-	
4/25/2022	9:00 AM	3:00 PM	7:59 AM	11:19 PM	Terrace CH (TF)	6.00	\$21.92	\$131.5
4/27/2022	9:01 AM	3:01 PM	7:09 AM	11:08 PM	Terrace CH (JB)	6.00	\$21,92	\$131.5
			1:42 PM	11:06 PM	Terrace CH (JB)		-	
4/28/2022	8:59 AM	3:00 PM	7:05 AM	3:52 PM	Terrace CH (TF)	6.00	\$21,92	\$131.5
4/29/2022	9:07 AM	3:07 PM	7:02 AM	3:13 PM	Terrace CH (JB)	6.00	\$21.92	\$131.5
() 23/2022	.022 J.07 AM		7:03 AM	11:03 PM	Terrace CH (JB)	10.00	\$21.92	\$219.2
4/30/2022	9:06 AM	7:06 PM	7:00 AM	11:00 PM	Terrace CH (TF)		-	•
5/4/2022	10:24 AM	4:26 PM	3:00 PM	11:31 PM	Terrace CH (JB)	1,25	\$21.92	\$27.40
5/7/2022	9:00 AM	7:00 PM	2:57 PM	11:04 PM	Terrace CH (JB)	4.00	\$21.92	\$87.68
5/7/2022	5.007.00		3:00 PM	11:09 PM	Terrace CH (JB)	0.25	\$21.92	\$5.48
5/11/2022	9:15 AM	3:15 PM	3:00 PM	11:08 PM	Terrace CH (TF)		_	•
		+	8:00 AM	11:08 PM	Terrace CH (JB)	10.00	\$21.92	\$219.2
5/14/2022	9:11 AM	7:18 PM	8:00 AM	11:20 PM	Terrace CH (TF)	20100		•
5/16/2022	10:36 AM	4:36 PM	2:55 PM	11:04 PM	Terrace CH (JB)	1.50	\$21.92	\$32.88
5/10/2022	10.30 AW	4.501101	2:56 PM	11:03 PM	Terrace CH (JB)	0.25	\$21.92	\$5.48
5/19/2022	9:20 AM	3:20 PM	2:57 PM	11:13 PM	Terrace CH (TF)	0.20	-	+
			7:33 AM	11:04 PM	Terrace CH (JB)	10.00	\$21.92	\$219.2
5/21/2022	9:02 AM	7:02 PM	7:34 AM	11:19 PM	Terrace CH (TF)	10.00	+	~ L
			3:09 PM	11:31 PM	Terrace CH (JB)	0.50	\$21.92	\$10.9
5/25/2022	9:39 AM	3:39 PM	3:09 PM	11:30 PM	Terrace CH (TF)	0.50	<i>421.32</i>	440131
E /27/2022	9:26 AM	3:26 PM	9:18 AM	11:06 PM	Terrace CH (TF)	6.00	\$21.92	\$131.5
5/27/2022	9:20 AIVI	5.20 FIVI	8:21 AM	11:02 PM	Terrace CH (JB)	10.00	\$21.92	\$219.2
5/28/2022	9:00 AM	7:02 PM		11:13 PM	Terrace CH (TF)	10,00		4213,2
<i>c /2 /2022</i>	0.50 414	2.60 014	8:41 AM	- <u> </u>		0.75	\$21.92	\$16.4
6/2/2022	9:50 AM	3:50 PM	2:56 PM	11:02 PM	Terrace CH (JB)	10.00		\$219.2
6/4/2022	9:52 AM	7:52 PM	7:47 AM	11:16 PM	Terrace CH (TF)	10.00	\$21.92	2،213،2
6/6/2022	9:28 AM	3:28 PM	3:11 PM	11:07 PM	Terrace CH (JB)	¬r	624.02	6136.0
			11:02 PM	3:16 PM	Terrace CH (TF)*	5.75	\$21.92	\$126.0
6/8/2022	9:29 AM	3:33 PM	2:52 PM	11:05 PM	Terrace CH (JB)	0.50	\$21.92	\$10.9
-, -,			3:00 PM	11:18 PM	Terrace CH (TF)	40.00	-	6040.0
6/11/2022	9:03 AM	7:03 PM	7:07 AM	11:09 PM	Terrace CH (JB)	10.00	\$21.92	\$219.2
		1	7:07 AM	11:16 PM	Terrace CH (TF)		-	

	Silver	Heart	Outside Em	ployment				
Date	Time In	Time Out	Time In	Time Out	Employer	Overlap	MCO Hourly	Total
6/18/2022	9:31 AM	7:31 PM	7:17 AM	11:41 AM	Terrace CH (JB)	2.00	\$21.92	\$43.84
			1:01 PM	11:04 PM	Terrace CH (JB)	1.75	\$21.92	\$38.36
6/21/2022	9:00 AM	3:00 PM	1:01 PM	11:16 PM	Terrace CH (TF)		-	
			2:52 PM	11:10 PM	Terrace CH (JB)		-	
6/25/2022	9:23 AM	7:23 PM	2:48 PM	11:17 PM	Terrace CH (TF)	4.50	\$21.92	\$98.64
			2:52 PM	11:06 PM	Terrace CH (JB)		-	
6/27/2022	9:31 AM	3:31 PM	1:08 PM	10:44 PM	Terrace CH (TF)	2.25	\$21.92	\$49.32
6/30/2022	9:12 AM	3:17 PM	2:55 PM	11:05 PM	Terrace CH (JB)	0.25	\$21.92	\$5.48
7/1/2022	9:09 AM	3:09 PM	2:53 PM	11:02 PM	Terrace CH (JB)	0.25	\$21.92	\$5.48
7/8/2022	9:15 AM	3:15 PM	3:00 PM	11:00 PM	Terrace CH (TF)	0.25	\$21.92	\$5.48
7/9/2022	9:40 AM	7:40 PM	3:00 PM	7:10 AM	Terrace CH (TF)	4.50	\$21.92	\$98.64
7/13/2022	9:05 AM	3:05 PM	6:54 AM	11:05 PM	Terrace CH (JB)	6.00	\$21. 9 2	\$131.52
	0.00.000	244 544	2:55 PM	11:06 PM	Terrace CH (JB)	0.25	\$21.92	\$5.48
7/14/2022	9:09 AM	3:14 PM	2:56 PM	11:00 PM	Terrace CH (TF)		-	
7466000	0.00 414	7.00 044	3:48 PM	11:08 PM	Terrace CH (JB)		-	
7/16/2022	9:08 AM	7:08 PM	3:00 PM	11:25 PM	Terrace CH (TF)	4.00	\$21.92	\$87.68
7/10/2022	0.22 444	2,20,004	2:58 PM	11:07 PM	Terrace CH (JB)	0.50	\$21.52	\$10.76
7/19/2022	9:23 AM	3:29 PM	3:01 PM	11:05 PM	Terrace CH (TF)		-	
- /00 /0000	0.01 444	7.01.014	7:08 AM	11:02 PM	Terrace CH (JB)	10.00	\$21.92	\$219.2
7/23/2022	9:01 AM	7:01 PM	7:09 AM	11:02 PM	Terrace CH (TF)			
7/25/2022	0.20 444	2,20 014	3:05 PM	11:03 PM	Terrace CH (JB)	0.50	\$21.92	\$10.96
7/25/2022	9:39 AM	3:38 PM	3:10 PM	11:10 PM	Terrace CH (TF)		-	
7/27/2022	9:29 AM	3:29 PM	3:03 PM	11:02 PM	Terrace CH (JB)	0.25	\$21.92	\$5.48
7/27/2022	9:29 AIVI	3.23 FW	3:07 PM	11:11 PM	Terrace CH (TF)		-	
7/28/2022	11:00 AM	5:00 PM	3:13 PM	11:02 PM	Terrace CH (JB)	1.75	\$21.92	\$38.36
7/29/2022	9:08 AM	3:08 PM	8:03 AM	11:16 PM	Terrace CH (TF)	6.00	\$21.92	\$131.5
7/30/2022	9:20 AM	7:20 PM	2:54 PM	11:01 PM	Terrace CH (JB)	4.25	\$21.92	\$93.16
773072022	J.20 AM	7.20110	2:59 PM	11:15 PM	Terrace CH (TF)		-	· .
8/4/2022	9:29 AM	3:31 PM	3:08 PM	7:11 AM	Terrace CH (TF)	0.25	\$21.92	\$5.48
8/5/2022	9:05 AM	3:05 PM	2:50 PM	11:00 PM	Terrace CH (TF)	0.25	\$21.92	\$5.48
8/9/2022	9:26 AM	3:26 PM	3:05 PM	11:15 PM	Terrace CH (JB)	0.25	\$21.92	\$5.48
	5.207.111		3:07 PM	7:00 AM	Terrace CH (TF)		-	
8/17/2022	9:24 AM	3:24 PM	3:01 PM	11:15 PM	Terrace CH (TF)	0.25	\$21.92	\$5.48
8/18/2022	9:43 AM	3:43 PM	3:12 PM	7:03 AM	Terrace CH (JB)	0.50	\$21.92	\$10.96
8/20/2022	9:20 AM	7:20 PM	3:09 PM	11:08 PM	Terrace CH (JB)	4.00	\$21.92	\$87.68
			3:10 PM	11:08 PM	Terrace CH (TF)		-	
8/25/2022	9:31 AM	3:37 PM	3:10 PM	11:05 PM	Terrace CH (JB)	0.25	\$21.92	\$5.48
			3:12 PM	7:00 AM	Terrace CH (TF)		-	
8/29/2022	10:40 AM	4:40 PM	3:09 PM	11:07 PM	Terrace CH (JB)	1.50	\$21.92	\$32.88
9/1/2022	9:35 AM	3:35 PM	2:56 PM	11:10 PM	Terrace CH (JB)	0.50	\$21.92	\$10.96
9/2/2022	9:32 AM	3:31 PM	3:07 PM	11:00 PM	Terrace CH (TF)	0.25	\$21.92	\$5.48
9/3/2022	10:18 AM	8:18 PM	3:09 PM	11:10 PM	Terrace CH (JB)	5.00	\$21.92	\$109.6
			3:09 PM	11:00 PM	Terrace CH (TF)	0.50		65 A 01
9/5/2022	11:28 AM	5:28 PM	2:58 PM	11:08 PM	Terrace CH (TF)	2.50	\$21.92	\$54.80
9/6/2022	10:02 AM	4:02 PM	3:12 PM	11:11 PM	Terrace CH (JB)	0.75	(6 a.m. a.
• • · · ·			3:04 PM	11:05 PM	Terrace CH (TF)	0.75	\$21.92	\$16.44
	10:11 AM	4:11 PM	3:04 PM	11:06 PM	Terrace CH (JB)	1.00	\$21.92	\$21.92

	Silver	Heart	Outside Em	ployment				
Date	Time In	Time Out	Time In	Time Out	Employer	Overlap	MCO Hourly	Total
			3:41 PM	11:03 PM	Terrace CH (JB)	0.50	\$21.92	\$10.96
9/8/2022	3/2022 10:25 AM	4:25 PM	3:41 PM	11:07 PM	Terrace CH (TF)		-	
	· <mark>······</mark>		3:11 PM	11:07 PM	Terrace CH (JB)	0.25	\$21.92	\$5.48
9/13/2022	9:32 AM	3:32 PM	3:16 PM	11:18 PM	Terrace CH (TF)		-	
9/14/2022	9:28 AM	3:28 PM	3:04 PM	11:08 PM	Terrace CH (JB)	0.25	\$21.92	\$5.48
			3:31 PM	11:10 PM	Terrace CH (JB)	0.50	\$21.92	\$10.96
9/15/2022	9:57 AM	4:02 PM	3:31 PM	11:00 PM	Terrace CH (TF)		-	
			10:05 AM	11:01 PM	Terrace CH (JB)	9.00	\$21.92	\$197.2
9/24/2022	9:16 AM	7:16 PM	10:05 AM	11:25 PM	Terrace CH (TF)		-	
9/29/2022	9:05 AM	3:05 PM	12:29 PM	11:20 PM	Terrace CH (JB)	2.50	\$21.92	\$54.80
10/1/2022	9:22 AM	7:22 PM	8:47 AM	11:08 PM	Terrace CH (JB)	10.00	\$21.92	\$219.2
10/4/2022	9:50 AM	3:50 PM	3:25 PM	11:06 PM	Terrace CH (JB)	0.25	\$21.92	\$5.48
10/6/2022	11:08 AM	5:08 PM	4:01 PM	11:11 PM	Terrace CH (JB)	1.00	\$21.92	\$21.92
40/0/2022	0.40.114	7.40 044	3:43 PM	11:05 PM	Terrace CH (JB)		-	
10/8/2022	9:49 AM	7:49 PM	3:06 PM	11:10 PM	Terrace CH (TF)	4.50	\$21. 9 2	\$98.64
10/10/2022	9:12 AM	3:12 PM	6:47 AM	2:39 PM	Terrace CH (TF)	5.25	\$21.92	\$115.0
	0.40.004	2.40.014	3:05 PM	11:04 PM	Terrace CH (JB)		-	
10/12/2022	9:48 AM	3:48 PM	11:01 AM	2:35 PM	Terrace CH (TF)	3.50	\$21.92	\$76.72
10/13/2022	9:06 AM	3:06 PM	8:41 AM	11:03 PM	Terrace CH (JB)	6.00	\$21.92	\$131.5
40/45/2022	0.11 444	7.11 044	9:57 AM	11:01 PM	Terrace CH (JB)	9.00	\$21.92	\$1 9 7.2
10/15/2022	9:11 AM	7:11 PM	11:05 PM	11:09 AM	Terrace CH (TF)		**	
10/29/2022	8:56 AM	6:56 PM	8:50 AM	11:07 PM	Terrace CH (JB)	10.00	\$21.92	\$219.2
11/3/2022	9:44 AM	3:44 PM	3:10 PM	11:02 PM	Terrace CH (JB)	0.50	\$21.92	\$10.96
11/4/2022	9:47 AM	3:47 PM	3:30 PM	11:04 PM	Terrace CH (JB)	0.25	\$21.92	\$5.48
						1686.75		\$34,272.

Please provide the following information for each co-defendant.



Co-Defendant Data Sheet

Docket Number:	Date Filed:	OTN/LiveScan Numb	er	Complaint/Incident Number MFI-230125-116F
Defendant Name	First: Tiffany	Middle:	Last: Farris	
Complaint/Incident Num	ber			Co-Defendant #
Jonathan Banks				
(Name)				
3215 N 27 th Street				
(Home Street Address)				
Philadelphia, PA 19140		267-97	7-8035	
(City, State, & ZIP Code)		(Telep	hone #)	
Complaint/Incident Num	ıber			Co-Defendant #
(Name)				
(Home Street Address)				
(City, State, & ZIP Code)		(Telep	hone #)	
Complaint/Incident Nun	nber		4e	Co-Defendant #
(Name)				
(Home Street Address)				
(City, State, & ZIP Code)		(Telep	hone #)	
Complaint/Incident Nun	nber			Co-Defendant #
(Name)				
(Home Street Address)				
(City, State, & ZIP Code)		(Teler	ohone #)	

